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CLASSROOM CONSOLIDATION (CRC) TEST - 2 
 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz 

tpilj;jhspy; (OMR) Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 
 

Neuk;: 3 kzp         nkhj;j kjpg;ngz;fs;: 300 
 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 
 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F 
toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; 
,t;tpdhj;njhFg;gpy; vy;yh tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; 
ntw;Wj;jhs;fs; vitAk; ,y;iy vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; 
VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; 
njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid ngw;Wf;nfhs;s Ntz;Lk;. Njh;T 
njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s 
,lj;jpy; ePq;fs; vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. 
tpilfisf; Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; 
Njh;Tf;$l mDkjpr;rPl;bYk; toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; 
gf;fj;jpy; mjw;nfd mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; 
Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; 
jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) 

my;yJ (B) my;yJ (C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil 
,Ug;gjhf ePq;fs; fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; vijf;fUJfpwPh;fNsh me;j tpilia 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy vdpy;> ePq;fs; (E) 
vd;gij mtrpak; epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; 
Njh;e;njLf;f Ntz;Lk;. ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; 
xU tpil rhpahdjhf ,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T 
Neuj;jpy; ,e;j tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L 
ntspapy; vLj;Jr; nry;yf;$lhJ. Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; 
fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. ,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; 
cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; 
nfhs;syhk;. ,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; 
vOjf;$lhJ. ,e;j mwpTiu fz;bg;ghf gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
 

11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; 
eltbf;iffSf;F cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. What is the basic principle of development applied in the inductive approach? 
a. Principle of interrelation  b. Principle of proximo-distal 
c. Principle of spirality  d. Principle of general to specific 
e. Answer not known 
njhFj;jwpjy; Kiwapd; mbg;gil tsh;r;rpf; Nfhl;ghL 
a. cs; xl;LwT tpjp  b. nghUj;j tpjp 
c. RUs; tpjp    d. nghJthditapypUe;J rpwg;ghdit tpjp  
e. tpil njhpatpy;iy 

 
2. Which types of learning is important for day-to-day life? 

a. Imitation learning   b. combined learning 
c. signal learning    d. chain learning 
e. Answer not known 
md;whl fw;wypy; Kf;fpaj;Jtk; tha;e;jJ vt;tif fw;wy;? 
a. Nghyf; fw;wy; (gpd;gw;wpf; fw;wy;) b. ,izj;Jf;fw;wy;  
c. FwpaPl;Lf;fw;wy;     d. njhlh; fw;wy;  
e. tpil njhpatpy;iy 
 

3. In Cricket, a fielder pulls back his hands while catching the ball. He 
experiences a smaller force for a longer interval of time to catch the ball. It is 
an example of 
a. Newton‟s 1st law of motion b. Newton‟s 2nd law of motion 
c. Newton‟s 3rd law of motion  d. None of the above 
e. Answer not known 
fpupf;nfl; tpisahl;by;> xU /gPy;lh; ge;ij gpbf;Fk;nghOJ ifia gpd;Df;F 
,Og;gjhy; Vw;gLk; ePz;l Neu ,ilntspapd; fhuzkhf rpwpa mstpyhd 
tpiria czh;fpwhh;. ,J _______ f;F vLj;Jf;fhl;lhFk;. 
a. epA+l;ldpd; ,af;f tpjp  b. epA+l;ldpd; ,af;f tpjp 
c. epA+l;ldpd; ,af;f tpjp  d. vJTkpy;iy 
e. tpil njhpatpy;iy 

 
4. _____ is the world‟s smallest satellite weighing only 64 gram. 

a. Kalam Sat   b. PSLV Sat  
c. Propellant   d. None of the above 
e. Answer not known 
____ vd;gJ 64 fpuhk; kl;LNk vil nfhz;l cyfpd; kpfr; rpwpa nraw;iff; 
Nfhs; MFk;. 
a. fyhk; rhl;   b. PSLV rhl;  
c. ,af;fnghUl;fs;  d. vJTkpy;iy 
e. tpil njhpatpy;iy 

 
5. Pauling scale of electronegativity of elements helps to determine, 

a. Covalent nature of an element 
b. Position of an element in periodic table 
c. Dipole moment of molecules 
d. Polarity of bond 
e. Answer not known 
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jdpkj;jpd; vyf;l;uhd; fth;jd;ikf;fhd ghypq; msTNfhy; ______ If; 
fz;lwpa cjTfpwJ 
a. jdpkj;jpd; rfg;gpizg;G jd;ik 
b. Mth;j;jd ml;ltizapy; jdpkj;jpd; ,lk; 
c. %yf;$Wfspd; ,UKidj; jpUg;Gj;jpwd; 
d. gpizg;gpd; KidTj;jd;ik 
e. tpil njhpatpy;iy 
 

6. Which of the following substances turn blue litmus to red? 
a. Lemon juice  b. Carbonated soft drink 
c. Curd   d. All of these 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j nghUs; ePy ypl;kir rptg;ghf khw;Wk;? 
a. vYkpr;irr; rhW  b. fhh;gNdw;wg;gl;l Fsph;ghdk; 
c. japh;   d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

7. Match the following 
A. Plastid   1. Altmann 
B. Bioplast   2. Harry Beevers 
C. Glyoxysome  3. Christian de Duve 
D. Peroxisomes  4. A.F.U. Schimper 
 A B C D 
a. 2 1 4 3 
b. 4 1 2 3 
c. 1 4 2 3 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf 
A. gpsh];bl;   1. My;l;Nkd; 
B. igNahgpsh];l;  2. `hhp gpNth;]; 
C. fpisahf;rpNrhk;  3. fphp];bad; b Ltp 
D. nguhf;rpNrhk;fs;  4. A.F.U. ];~pk;gh; 
 A B C D 
a. 2 1 4 3 
b. 4 1 2 3 
c. 1 4 2 3 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

8. Match the following 
A. Amphiastral  1. Plant cell 
B. Anastral   2. Animal cell 
C. Mitogen   3. Promote cell cycle 
D. Endomitosis  4. Replication of chromosome only 
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 A B C D 
a. 4 2 1 3 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf 
A. Mk;gpM];l;uy;  1. jhtu nry; 
B. md;M];l;uy;  2. tpyq;F nry; 
C. ikl;Nlhn[d;  3. nry; Row;rpia Cf;Ftpj;jy; 
D. vz;Nlhikl;lhrp]; 4. FNuhNkhNrhk;fs; kl;LNk ,ul;bg;ghjy; 
 A B C D 
a. 4 2 1 3 
b. 3 4 2 1 
c. 1 2 3 4 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

9. Who states that in DNA, the proportion of adenine is always equal to that of 
thymine? 
a. Waldeyer   b. Francis Crick 
c. Langdon Down  d. Erwin Chargaff 
e. Answer not known 
ahh; $w;Wg;gb> DNA tpy; vg;nghOJk; mbiddpd; tpfpjKk; ijkpdpd; 
tpfpjKk; rkkhf cs;sd? 
a. thy;Nlah;   b. /gpuhd;rp]; fphpf; 
c. yhq;f;ld; lTd;  d. vh;tpd; rhh;fh/g; 
e. tpil njhpatpy;iy 
 

10. Which of the following is Autoimmune disease? 
1. Hashimoto‟s thyroiditis  2. Addison‟s disease 
3. Rheumatoid Arthritis  4. Multiple Sclerosis 
5. Rheumatic Arthritis 
a. 1, 2, 3, 4  b. 1, 4, 5   c. 1, 3, 4   
d. 2, 4, 5  e. Answer not known 
gpd;tUtdtw;Ws; vJ Rajilf;fhg;G Neha;fs; MFk;? 
1. `rpNkhl;Nlh ijuha;L tPf;f Neha; 
2. mbrd; Neha; 
3. &khl;lha;L %l;Ltyp 
4. ky;bgpy; ];fpspNuhrp]; 
5. &khl;bf; %l;Ltyp 
a. 1, 2, 3, 4  b. 1, 4, 5   c. 1, 3, 4   
d. 2, 4, 5  e. tpil njhpatpy;iy 
 

11. What is the meaning of Greek word “Angio”? 
a. Seed  b. Flower   c. Box    
d. Tap root  e. Answer not known 
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fpNuf;f thh;j;ijahd “MQ;rpNah” vd;gjd; nghUs; vd;d? 
a. tpij  b. kyh;   c. ngl;b   
d. MzpNth;  e. tpil njhpatpy;iy 
 

12. Consider the following 
Assertion (A): Vitamin A was given the first letter of the English Alphabet 
“A” 
Reason (R): Vitamin A was the first Vitamin Discovered. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct and R is not the correct explanation of A 
c. A is correct R is wrong 
d. R is correct A is wrong 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): itl;lkpd; “A”f;F Mq;fpy vOj;jpd; Kjy; vOj;jhd “A” 
nfhLf;fg;gl;Ls;sJ 
fhuzk; (R): itl;lkpd; A Kjd; Kjypy; fz;Lgpbf;fg;gl;l itl;lkpd; MFk; 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ Af;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ Af;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. R rhp A jtW 
e. tpil njhpatpy;iy 

 
13. Which of the following zone became the first zone of the Greater Chennai 

Corporation to have all women team to manage solid waste? 
a. Kodambakkam  b. Manali   c. Annanagar  

 d. Ambattur   e. Answer not known 
gpd;tUk; ve;j kz;lyk; ngUefu nrd;id khefuhl;rpapd; jplf;fopT 
Nkyhz;ikf;F midj;J kfsph; FOit nfhz;l kz;lykhf khwpaJ? 
a. Nfhlk;ghf;fk;  b. kzyp   c. mz;zhefh; 

 d. mk;gj;J}h;   e. tpil njhpatpy;iy 
  
14. Which of the following statements is/are correct regarding the excavation of 

porunai river civilization? 
(i) The excavation is done at Sivagalai in Thoothukudi district. 
(ii) Miami based Beta Analytic Testing Laboratory report indicates the 

civilization date backs to 1155 B.C. 
(iii) Chief Minister M.K. Stalin announced the established of porunai 

Museum in Thoothukudi. 
a. i, ii only  b. ii, iii only   c. ii only   
d. all the above e. Answer not known 
nghUie ejp ehfhpfj;jpd; mfo;thuha;r;rp njhlh;ghd gpd;tUk; $w;Wfspy; 
vJ/vit rhpahdJ? 
i. ,J J}j;Jf;Fb khtl;lj;jpy; cs;s rptfiyapy; Nkw;nfhs;sg;gl;l 

mfoha;T. 
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ii. kpahkpapy; cs;s gPl;lh gFg;gha;T Nrhjid Ma;tf mwpf;ifapy; 
nghUie ejp ehfhpfkhdJ fp.K. 1155 Mz;il Nrh;e;jJ vd;W 
$wg;gl;Ls;sJ 

iii. Kjyikr;rh; K.f. ];lhypd; J}j;Jf;Fbapy; nghUie mUq;fhl;rpafk; 
mikf;fg;gLk; vd mwptpj;Js;shh;. 

a. i, ii kl;Lk;     b. ii, iii kl;Lk;    c. ii kl;Lk;  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

15. Match the following 
Awards 2021    Recipient 
A. Kalpana Chawla   1. Grace Banu 
B. APJ Abdul Kalam  2. P. Shanmugapriya 
C. Best Third Gender  3. M. Lakshmanan  

A B C 
a. 2 3 1 
b. 1 2 3 
c. 3 2 1 
d. 1 3 2 

e. Answer not known 
nghUj;Jf 
tpUJfs; 2021   ngw;wth;fs; 
A. fy;gdh rht;yh   1. fpNu]; ghD 
B. A.P.J. mg;Jy; fyhk;  2. S. rz;Kfg;gphpah 
C. rpwe;j %d;whk; ghypdj;jth; 3. M. yl;Rkzd; 

A B C 
a. 2 3 1 
b. 1 2 3 
c. 3 2 1 
d. 1 3 2 
e. tpil njhpatpy;iy 
 

16. Find out the correct statements regarding Tamilnadu Pollution Control Board 
(TNPCB) 
i. Tamil Nadu Pollution Control Board was established in 1982. 
ii. TNPCB was established based on Air Pollution Act 1981 
iii. According to recent CSE report, TNPCB is the best pollution   control 

board in India 
a. i only   b. ii, iii only   c. i, iii only   
d. All the above  e. Answer not known 
jkpo;ehL khRf;fl;Lg;ghl;L thhpak; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
i. jkpo;ehL khRf;fl;Lghl;L thhpak; 1982Mk; Mz;L Njhw;Wtpf;fg;gl;lJ 
ii. jkpo;ehL khRf;fl;Lghl;L thhpak; fhw;W khRr;rl;lk; 1981,d; mbg;gilapy; 

mikf;fg;gl;lJ 
iii. rkPgj;jpa CSE mwpf;ifapd;gb> TNPCB ,e;jpahtpd; rpwe;j 

khRf;fl;Lg;ghl;L thhpak; MFk;. 
a. i, ii kl;Lk;     b. ii, iii kl;Lk;   c. i, iii kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
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17. Choose the correctly matched pair/s. 
i. Kalaignar Memorial Library – Thiruvarur 
ii. Mahatma Gandhi Museum – Madurai 
iii. Best Municipal Corporation Award 2021 - Thanjavur 
a. i, ii only  b. i, iii only  c. ii, iii only   
d. All the above e. Answer not known 
rhpahf nghUe;jpAs;s ,iziaj; Njh;T nra;f. 
i. fiyQh; epidT E}yfk; - jpUth&h; 
ii. kfhj;kh fhe;jp mUq;fhl;rpafk; - kJiu 
iii. rpwe;j khefuhl;rp tpUJ 2021 – jQ;rhT+h; 
a. i, ii kl;Lk;     b. i, iii kl;Lk;   c. ii, iii kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
18. Choose the correct statements regarding Tamil Nadu‟s target to $ 1 trillion 

economy? 
i. This is to achieve its aim of a $ 1 trillion economy by 2029-30. 
ii. It adopted three pronged strategy. 
iii. Slogan: Made in Tamil Nadu 
iv. It was announced by CM M.K. Stalin at the investors conclave organized 

by industries department in Chennai. 
a. i, ii only  b. i, iii, iv only c. iii, iv only   
d. All the above e. Answer not known 
1 bhpy;ypad; lhyh; nghUshjhuk; vd;w jkpofj;jpd; ,yf;F Fwpj;j rhpahd 
mwpf;ifiaj; Njh;e;njLf;fTk;. 
i. 2029-30Mk; Mz;bw;Fs; 1 bhpy;ypad; lhyh; nghUshjhuk; vd;w ,yf;if 

milAk;. 
ii. ,J Kg;ghpkhz cj;jpia Vw;Wf;nfhz;lJ. 
iii. Kof;fk;: jkpo;ehl;by; jahhpg;Nghk;. 
iv. nrd;idapy; njhopy;Jiw rhh;gpy; KjyPl;lhsh;fs; khehl;by; jkpof 

Kjy;th; K.f.];lhypd; 1 bhpy;ypad; lhyh; nghUshjhuk; vd;w ,yf;fpid 
mwptpj;jhh; 

a. i, ii kl;Lk;   b. i, iii, iv kl;Lk;  c.  iii, iv kl;Lk;  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
19. A 2300 years old step well has been found for the first time at 

a. Kodumanal b. Keezhadi   c. Sivagalai   
d. Agaram  e. Answer not known 
vq;F Kjd;Kiwahf 2300 Mz;Lfs; goikahd ciw fpzW 
fz;Lgpbf;fg;gl;Ls;sJ. 
a. nfhLkzy; b. fPob   c. rptfiy   
d. mfuk;  e. tpil njhpatpy;iy 
 

20. Choose the incorrectly matched pair/s 
i. Sundaradevan Committee – Revival of MSME sector in Tamilnadu. 
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ii. AK Rajan Committee – NEET Exam 
iii. S. Peter Alphonse – Chairperson of State Minority Commission. 
a. i only  b. ii only   c. i, iii only   
d. None of these e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;T nra;f. 
i. Re;juNjtd; FO – jkpo;ehl;by; MSME Jiwapd; kWkyh;r;rp. 
ii. V.Nf. uh[d; FO – ePl; Njh;T 
iii. v];. gPl;lh; my;Nghd;]; - khepy rpWghd;ik Mizaj;jpd; jiyth;. 
a. i kl;Lk;   b. ii kl;Lk;   c. i, iii kl;Lk;  
d. ,tw;wpy; VJkpy;iy e. tpil njhpatpy;iy 
 

21. Which of the following statement/s is/are correct about E-Paarvai? 
i. It was the mobile app launched by Tamilnadu e-Governance Agency. 
ii. It allows healthcare workers to identify cataracts on the spot with 91% 

accuracy. 
iii. E-Paarvai App works based on the principle of Artificial Intelligence  

a. i, ii only  b. i, iii only    c. ii, iii   
d. All of these e. Answer not known 
kpd;-ghh;it gw;wp gpd;tUk; $w;Wfspy; vJ/vit rhpahdJ? 
i. ,J jkpo;ehL kpd; MSik Kfikahy; njhlq;fg;gl;l ifg;Ngrp nrayp 

MFk;. 
ii. ,J kUj;Jt Copah;fs; fz;Giuia 91% Jy;ypakhf fz;lwptjw;fhdJ 
iii. kpd;-ghh;it ifg;Ngrp nraypahdJ nraw;if Ez;zwptpd; mbg;gilapy; 

nray;gLfpwJ. 
a. i, ii kl;Lk;   b. i, iii kl;Lk;   c. ii, iii   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

22. Choose the correct statements about Kalaignar Urban Employment Scheme of 
Tamil Nadu. 
i. Recently 200 crore rupees was allocated to this scheme by Government of 

Tamilnadu  
ii. It aims to provide employment to Urban poor who had lost their jobs 

because of the COVID-19 pandemic. 
iii. It was recommended by the committee headed by former RBI Governor C. 

Rangarajan. 
a. i, ii only   b. i, iii only   c. ii, iii only  
d. All of these   e. Answer not known 
fiyQh; efh;g;Gw Ntiytha;g;G jpl;lk; gw;wpa rhpahd $w;Wfis fz;lwpf 
i. rkPgj;jpy; jkpof muR ,j;jpl;lj;jpw;fhf &.200 Nfhbia xJf;fpAs;sJ. 
ii. Nfhtpl; 19 njhw;WNeha; fhuzkhf Ntiy ,oe;j efh;g;Gw ViofSf;F 

Ntiy toq;Ftij Nehf;fkhff; nfhz;Ls;sJ. 
iii. uprh;t; tq;fpapd; Kd;dhs; fth;dh; rp. uq;fuh[d; FO ghpe;Jiu 

nra;Js;sJ. 
a. i, ii kl;Lk;   b. i, iii kl;Lk;   c. ii, iii kl;Lk;  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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23. India‟s first indigenous motorized wheelchair vehicle „NeoBolt‟ is developed 
by 
a. Anna University   b. NIT Trichy 
c. IIT Madras    d. Hindustan University 
e. Answer not known 
cs;ehl;bNyNa jahhpf;fg;gl;l ,e;jpahtpd; Kjy; Nkhl;lhh; rf;fu ehw;fhyp  
„epNahNghy;il‟ cUthf;fpaJ __________ 
a. mz;zh gy;fiyf;fofk; b. vd;Ib jpUr;rp 
c. IIb nkl;uh];   d. ,e;J];jhd; gy;fiyf;fofk; 
e. tpil njhpatpy;iy 

 
24. Which of the following is the main objective of Chief Minister Road 

Improvement Scheme? 
a. To widen the rural roads connecting agricultural markets. 
b. To improve the state highways connecting major and minor ports. 
c. To widen the roads connecting Taluk headquarters and the District 

headquarters. 
d. Integrated Development of state highways and rural roads. 
e. Answer not known 
gpd;tUtdtw;Ws; Kjyikr;rh; rhiy Nkk;ghl;Lj; jpl;lj;jpd; Kf;fpa Nehf;fk; 
vJ? 
a. Ntshz; re;ijfis ,izf;f fpuhkg;Gw rhiyfis mfyg;gLjj 

Ntz;Lk;. 
b. nghpa kw;Wk; rpwpa JiwKfq;fis ,izf;Fk; khepy neLQ;rhiyfis 

Nkk;gLj;Jjy;. 
c. jhYf;fh jiyikafk; kw;Wk; khtl;l jiyikafj;ij ,izf;Fk; 

rhiyfis mfyg;gLj;j Ntz;Lk;. 
d. khepy neLQ;rhiyfs; kw;Wk; fpuhkg;Gw rhiyfspd; xUq;fpize;j 

tsh;r;rp. 
e. tpil njhpatpy;iy 

 
25. Choose the correctly matched pair/s regarding best municipalities prizes 

(2021) of Tamil Nadu? 
i. First prize  - Udhagamandalam 
ii. Second prize  - Chinnamanur 
iii. Third prize   - Tiruchengode 
a. i only   b. ii only   c. i, iii only   
d. All the above  e. Answer not known 
2021Mk; Mz;Lf;fhd rpwe;j efuhl;rp tpUJ ngw;w efuhl;rpfs; gw;wp rhpahd 
,iziaf; fhz;f 
i. Kjy; ghpR   - cjfkz;lyk; 
ii. ,uz;lhk; ghpR   - rpd;dkD}h; 
iii. %d;whk; ghpR   - jpUnrq;NfhL 
a. i kl;Lk;   b. ii kl;Lk;   c. i, iii kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
26. Who among the following is the second Transgender Sub Inspector of Police 

in Tamil Nadu? 
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a. Prithika Yashine    b. Grace Banu 
c. Sivanya    d. Sathyasri Sharmila 
e. Answer not known 
fPo;fz;ltw;Ws; jkpo;ehl;bd; ,uz;lhtJ jpUeq;if Jiz Ma;thsh; _______ 
a. gpUj;jpfh ah~pd;   b. fpNu]; ghD 
c. rptd;ah    d. rj;a= ~h;kpsh 
e. tpil njhpatpy;iy 

27. Choose the correct statements regarding the highlights of White paper report 
of Tamil Nadu? 
i. Revenue deficit is 3.16% of GSDP for FY 2020-21. 
ii. Fiscal deficit is 4.43% of GSDP. 
iii. Public debt is 26.69% of GSDP. 
iv. Power subsidy is the highest at 1.10% of GSDP. 
a. i, ii only   b. i, ii, iv only  c. ii, iii only   
d. All the above  e. Answer not known 
jkpofj;jpd; nts;is mwpf;ifapd; rpwg;gk;rq;fs; gw;wpa rhpahd tpiliaj; 
Njh;T nra;f. 
i. 2020-21 epjpahz;by; tUtha; gw;whf;Fiw GSDP-apy; 3.16% MFk;. 
ii. epjpg; gw;whf;Fiw GSDP-apy; 4.43% MFk;. 
iii. nghJf; fld; nkhj;j cs;ehl;L cw;gj;jpapy; 26.69% MFk;. 
iv. kpd;rhu khdpak; GSDP-apy; 1.10% MFk;. 
a. i, ii kl;Lk;    b. i, ii, iv kl;Lk;    c. ii, iii kl;Lk;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
28. The Tamil Nadu Agricultural budget proposed to setup Modern Agricultural 

Marketing Centre at 
a. Edapalli  b. Kolathur   c. Vadalur   
d. Thanjavur  e. Answer not known 
jkpo;ehL Ntshz; epjpepiy mwpf;ifapy; etPd Ntshz; tpw;gid ikak; 
vq;F mikf;f Kd;nkhopag;gl;lJ? 
a. vlg;gs;sp  b. nfhsj;J}h;   c. tlY}h;   
d. jQ;rht+h;  e. tpil njhpatpy;iy 
 

29. Choose the correctly matched pair/s based on the announcement made by 
Industries minister of Tamilnadu in Assembly recently 
i. Integrated Apparel Park  – Vellore. 
ii. Future Mobility Park   – Krishnagiri 
iii. SIPCOT Industrial Park  – Tiruvallur. 

a. All the above  b. i, ii only   c. i, iii only   
d. ii, iii only   e. Answer not known 
rkPgj;jpy; jkpof rl;lkd;wj;jpy; njhopw;Jiw mikr;rhpd; mwpf;ifapd;gb 
rhpahd ,iziaf; fhz;f 
i. xUq;fpize;j Mil G+q;fh  – NtY}h; 
ii. vjph;fhy nkhgpypl;b G+q;fh  – fpU~;zfphp 
iii. rpg;fhl; njhopy; G+q;fh   – jpUts;@h; 
a. Nkw;fz;l midj;Jk; b. i, ii kl;Lk;   c. i, iii kl;Lk;  
d. ii, iii kl;Lk;   e. tpil njhpatpy;iy 
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30. Whose death anniversary would be observed as the “day of sacrifice” in 

Tamil Nadu? 
a. Bharathiyar   b. C. Rajagopalachari 
c. K. Kamaraj    d. V.O. Chidambaram Pillai 
e. Answer not known 
 
jkpo;ehl;by; ahUila epidT ehs; “jpahfj;jpd; ehshf” mDrhpf;fg;gLfpwJ. 
a. ghujpahh;    b. C. ,uh[Nfhghyr;rhhp 
c. K. fhkuh[h;   d. t.c. rpjk;guk; gps;is 
e. tpil njhpatpy;iy 
 

31. Choose the incorrectly matched pairs regarding winners of Sahitya Akademi 
Awards 2021. 
Winner    Translation work 
i. K. Chellappan  - Rabindranath Tagore‟s Bengali Novel  

                                       Gora in Tamil. 
ii. T.E.S. Raghavan  - Thirukkural in Hindi 
iii. Sonali Navangul  - Irandam Jaamankalin Kathai in Marathi 

a. i, ii only   b. ii only       c. All of these  
d. None of the above  e. Answer not known 
2021-y; rhfpj;a mfhlkp tpUJ ntd;wth;fspy; jtwhfg; nghUe;jpa ,iziaj; 
Njh;T nra;aTk;. 
ntw;wpahsh;   nkhopg;ngah;g;G gzp 
i. Nf. nry;yg;gd;  - ,utpe;jpuehj; jh$hpd; tq;fhs Gjpdk; - jkpopy;  
                      Nfhuh 
ii. b.,.v];. uhftd;  - ,e;jpapy; jpUf;Fws; 
iii. Nrhdhyp ethq;Fy; - kuhj;jpapy; ,uz;lhk; [hkq;fypd; fij 
a. i, ii kl;Lk;   b. ii kl;Lk;      c. ,it midj;Jk;  
d. ,tw;wpy; VJkpy;iy e. tpil njhpatpy;iy 

 
32. Choose the correctly matched pair/s regarding excavation sites of Tamil 

Nadu? 
i. Vembakkottai  - Tirunelveli 
ii. Thullukkarpatti  - Thoothukudi 
iii. Perumpalai  - Dharmapuri 
iv. Poolankurichi  - Sivaganga 
v. Mudhalaikulam  - Madurai 
a. i, ii, iii only    b. i iii, iv, v only   
c. iii, iv, v only   d. All the above 
e. Answer not known 
jkpo; mfo;thuha;r;rp jsq;fs; njhlh;ghf rhpahf nghUe;jpa ,izia Njh;T 
nra;aTk;. 
i. ntk;gf;Nfhl;il  - jpUney;Ntyp 
ii. Js;Sf;fhug;gl;b  - J}j;Jf;Fb 
iii. ngUk;ghis   - jUkGhp 
iv. G+yhq;Fwpr;rp   - rptfq;if 
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v. Kjiyf;Fsk;   - kJiu 
a. i, ii, iii kl;Lk;   b. i iii, iv, v kl;Lk;   
c. iii, iv, v kl;Lk;   d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 

 
33. Which of the following are the objectives of Kalaignarin Anaithu Grama 

Orunginantha Velan Valarchi Thittam 
 
1. Augumenting water resources 
2. Installation of electric pump sets 
3. Increasing Milk Production 
4. Patta Transfer 
a. 1, 3 are correct   b. 1, 2, 4 are correct 
c. 1, 3, 4 are correct   d. All of these 
e. Answer not known 
gpd;tUtdtw;Ws; vit fiyQhpd; midj;J fpuhk xUq;fpize;j Ntshz; 
tsh;r;rp jpl;lj;jpd; Nehf;fq;fs; MFk;? 
1. ePh; ts Mjhuq;fis ngUf;Fjy; 
2. kpd;rhu gk;g;nrl;Lfis nghUj;Jjy; 
3. ghy; cw;gj;jpia ngUf;Fjy; 
4. gl;lh khw;wk; 
a. 1> 3 rhp    b. 1> 2> 4 rhp   c. 1> 3> 4 rhp  
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
34. Choose incorrect pair regarding Tamilnadu Agricultural Budget 

a. Coconut Value addition centre – Coimbatore 
b. Agro Industrial Corridor – Trichy, Thanjavur, Nagapattinam 
c. Turmeric Research Centre – Bhavanisagar 
d. Agriculture Museum – Chennai 
e. Answer not known 
jkpof Ntshz; epjpepiy mwpf;if gw;wpa jtwhd ,iziaf; fhz;f 
a. njd;id kjpg;Gf;$l;L ikak; - Nfhak;Gj;J}h; 
b. Ntshz; njhopy; kz;lyk; - jpUr;rp> jQ;rht+h;> ehfgl;bdk; 
c. kQ;rs; Muha;r;rp ikak; - gthdprhfh; 
d. Ntshz; mUq;fhl;rpak; - nrd;id 
e. tpil njhpatpy;iy 

 
35. “Go to people, live with people, learn from people, love the people and serve 

the people” – Said by 
a. Periyar   b. C.N. Annadurai  c. Dr. Kalaignar  
d. Ambedkar   e. Answer not known 
“kf;fsplk; nry; mth;fNshL tho;> mth;fsplkpUe;J fw;Wf;nfhs;> mth;fis 
Nerp> mth;fSf;F Nrit nra;” - ,ij nrhd;dth; ahh;? 
a. nghpahh;   b. C.N. mz;zhJiu 
c. Dr. fiyQh;  d. mk;Ngj;fh;   e. tpil njhpatpy;iy 

 
36. First village in Tamilnadu to get 100% vaccinated (First dose) for COVID is 

a. Kappalur, Madurai   b. Kattur, Thiruvarur 
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c. Manimangalam, Kanchipuram  d. Melakottai, Madurai 
e. Answer not known 
jkpo;ehl;by; Nfhtpl; jLg;g+rp Kjy; jtizia 100 rjtPjk; g+h;j;jp nra;j 
Kjy; fpuhkk; ________ 
a. fg;gY}h;> kJiu    b. fhl;^h;> jpUth&h; 
c. kzpkq;fyk;> fhQ;rpGuk;   d. Nkyf;Nfhl;il> kJiu 
e. tpil njhpatpy;iy 

37. Consider the following statements regarding TANSCHE 
1. State higher education minister is the head of TANSCHE  
2. TANSCHE promotes and co-ordinates higher education at state level 
3. TANSCHE co-ordinates state level programmes with those of University 

Grants Commission 
a. 1 alone is correct   b. 1, 2 are correct 
c. 2, 3 are correct   d. All are correct 
e. Answer not known 
TANSCHE gw;wpa $w;Wfis Ma;f 
1. khepy cah;fy;tp mikr;rNu TANSCHE-apd; jiytuhthh; 
2. TANSCHE khepy mstpyhd cah;fy;tpia Cf;Ftpf;fpwJ kw;Wk; 

xUq;fpizf;fpwJ. 
3. gy;fiyf;fof khdpaf; FOtpd; khepy mstpyhd jpl;lq;fis TANSCHE 

xUq;fpizf;fpwJ. 
a. 1 kl;Lk; rhp   b. 1> 2 rhp 
c. 2> 3 rhp    d. midj;Jk; rhp 
e. tpil njhpatpy;iy 

  
38. Find out the place where Rajendra Chola Palace excavated recently 

a. Maligaimadeu, Ariyalur  b. Manalmedu, Thanjavur 
c. Kodumanal, Perambalur  d. Keezhadi, Sivagangai 
e. Answer not known 
rkPgj;jpy; uhN[e;jpu Nrhodpd; muz;kid mfo;tha;T nra;J fz;lwpag;gl;l 
,lk; _________ 
a. khspifNkL> mhpaY}h;  b. kzy;NkL> jQ;rht+h; 
c. nfhLkzy;> nguk;gY}h;  d. fPob> rptfq;if 
e. tpil njhpatpy;iy 

  
39. Find out the members of Tamilnadu “Economic Advisory Council to CM” 

1. Esther Duflo   2. Raghuram Rajan 
3. Arvind Subramaniam  4. Jean Dreze 
5. S. Narayanan 
a. 1, 2, 3   b. 1, 2, 3, 4   c. 1, 2, 4  
d. All of these  e. Answer not known 
jkpof Kjyikr;rhpd; nghUshjhu MNyhridf; FOtpy; cs;sth;fis 
fz;lwpf 
1. v];jh; l/g;Nyh   2. uFuhk; uh[d; 
3. mutpe;j; Rg;gpukzpad;  4. [Pd; l;nu]; 
5. S. ehuhazd; 
a. 1, 2, 3   b. 1, 2, 3, 4   c. 1, 2, 4  
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d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

40. Which of the following leader‟s portrait were present in Tamilnadu 
Assembly? 
1. Rajaji  2. Kamaraj   3. Omandhurar 
4. J. Jayalalitha 5. Kalaignar Karunanidhi 6. Ramasamy Padayatchi 
a. 1, 2, 4, 5  b. 2, 4, 5, 6   c. 4, 5   
d. All of these e. Answer not known 
gpd;tUgth;fSs; ve;nje;j jiyth;fspd; cUtg;glq;fs; jkpof rl;lkd;wj;jpy; 
itf;fg;gl;Ls;sJ? 
1. ,uh[h[p   2. fhkuh[h;   3. Xke;J}uhh; 
4. n[. n[ayypjh  5. fiyQh; fUzhepjp 6. ,uhkrhkp gilahr;rp 
a. 1, 2, 4, 5   b. 2, 4, 5, 6   c. 4, 5   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
41. Consider the following statement regarding to „Thagaisal Thamizhar‟ Award 

1. This Award was constituted in 2020 
2. Awarded to in recognition of those who have made contributions for 

development of Tamils and Tamilnadu 
3. N.  Sankaraiah was the First Awardee 
a. 1, 2 are correct  b. 2, 3 are correct 
c. 1, 3 are correct  d. All are correct 
e. Answer not known 
jifrhy; jkpoh; tpUJ njhlh;ghd gpd;tUk; $w;Wfis Ma;f  
1. ,e;j tpUJ 2020,y; cUthf;fg;gl;lJ 
2. jkpo;; kw;Wk; jkpo;ehl;bd; tsh;r;rpf;fhfg; gq;fhw;wpath;fis nfsutpf;Fk; 

tifapy; ,e;j tpUJ toq;fg;gLfpwJ 
3. Kjy; tpUjpidg; ngw;wth; N. rq;fua;ah 
a. 1> 2 rhp   b. 2> 3 rhp   c. 1> 3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
42. Consider the following 

Assertion (A): October 12 to be celebrated as “Semmozhi Thirunal‟ 
Reason (R): Tamil Language was announced as classical language on October 
12, 2004 
a. A and R are correct and R is the correct explanation of A 
b. A and R are correct and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): mf;Nlhgh; 12 nrk;nkhop jpUehshf nfhz;lhlg;gLk; vd 
mwptpf;fg;gl;Ls;sJ 
fhuzk; (R): mf;Nlhgh; 12> 2004Mk; Njjp jkpo; nkhop nrk;nkhopahf 
mwptpf;fg;gl;lJ. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ Atpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ Atpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
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d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
43. Which of the following statements is/are correct? 

1. Himalayan Mountains are the youngest fold mountains  
2. Himalayan Mountain is known as “The roof of the world” 
3. The Pamir Knot popularly known as “The abode of Snow”. 
4. Eastern Himalayas is known as Tibetan Himalayas  
a. 1, 2, 3, 4 are correct   b. 1, 2, 3 are correct  
c. Only 1, 4 are correct   d, Only 1 is correct  
e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,kakiyj; njhlu;fs; ,sk; kbg;G kiyj; njhlu;fs; MFk;. 
2. ,kakiy “cyfpd; $iu” vd miof;fg;gLfpwJ. 
3. gkPu;Kbr;R “gdp ciwtplk;” vd miof;fg;gLfpwJ. 
4. fpof;F ,kakiyj;njhlu; “jpngj;jpad; ,kakiy” vdTk; 
miof;fg;gLfpwJ. 
a. 1>2>3>4 rup  b. 1>2>3 rup   c. 1>4 kl;Lk; rup   
d. 1 kl;Lk; rup e. tpil njhpatpy;iy 
 

44. Consider the following statements  
1. Pirpanjal is the eastern off-shoots of Himalayas  
2. Garo, Khasi, Janitia Hills are located in Pirpanjal ranges  
3. Himalayas blocks southwest monsoon winds and causes heavy rainfall 

to North India   
4. The Kumaun Himalayas located between the rivers of Sutlej and Kali  

a. 1, 2, 4 are correct   b. Only 3, 4 are correct  
c. 1, 2, 3 are incorrect  d. Only 4 is correct   
e. Answer not known 

 gpd;tUtdtw;iw Ma;f 
1. gPu;gQ;ry; vd;gJ ,kakiyapd; fpof;Ff; fpis. 
2. fhNuh> fhrp> n[ae;jpah kiyfs; gPu;gQ;ry; njhlupy; mike;Js;sd. 
3. ,kakiy njd;Nkw;Fg; gUtf;fhw;wpidj; jLj;J tl ,e;jpahtpy; mjpf 

kiog; nghopit Vw;gLj;Jfpd;wJ. 
4. FkhA+d; ,kakiyfs; rl;ny[; kw;Wk; fhsp MWfSf;fpilNa 

mike;Js;sJ. 
a. 1>2>4 rup   b. 3>4 rup   c. 1>2>3 jtW   
d. 4 kl;Lk; jtW  e. tpil njhpatpy;iy 
 

45. Consider the following statements 
1. Fertile land of eight north Indian states forms the great northern plains  
2. Length of great northern plains is about 2400 Km  
3. This plains covers an area of over 7 Lakh sq. Km  
a. 2, 3 are correct    b. 1, 2 are correct  
c. 1, 3 are correct    d. 2, 3 are correct  
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
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1. tl,e;jpahtpy; vl;L khepyq;fspd; tskhd rkntspfNs tlngUk; 
rkntspahf gutpf; fhzg;gLfpd;wJ. 

2. ,jd; ePsk; 2400 fp.kP. 
3. ,J 7 yl;rk; rJu fp.kP. gug;gstpw;F gutpAs;sJ. 
a. 2> 3 rup  b. 1> 2 rup   c. 1>3 rup   
d. 2>3 jtW  e. tpil njhpatpy;iy 
 

46. Which of the following statements is/are correct? 
1. The river Brahmaputra is known as the river Padma in Bangladesh  
2. The river Ganga is called as Jammuna in Bangladesh  
a. Both 1, 2 are correct   b. Only 1 is correct 
c. Only 2 are correct   d. Both 1, 2 are incorrect  
e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. tq;fNjrj;jpy; gpuk;kGj;jpuh MW gj;kh vd;w ngaupy; miof;fg;gLfpd;wJ. 
2. fq;if ejp tq;fNjrj;jpy; [Kdh vd;W miof;fg;gLfpd;wJ. 
a. 1> 2 Mfpa ,uz;LNk rup b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup   d. 1> 2 Mfpa ,uz;LNk jtW  
e. tpil njhpatpy;iy 
 

47. The largest tributary of Indus is ____. 
a. Sutlej  b. Jhelum   c. Ravi   
d. Chenab  e. Answer not known 
rpe;Jejpapd; kpfg;ngupa JizahW _____. 
a. rl;y[;  b. [Pyk;   c. uhtp   
d. rpdhg;  e. tpil njhpatpy;iy 
 

48. Consider the following statements 
1. The average annual rainfall of India is 118 mm 
2. The average annual rainfall of Tamilnadu is 958.5 cm 
a. 1 only correct b. 2 only correct  c. Both are correct   
d. Both are wrong e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpahtpd; Mz;L ruhrhp kiog;nghopT 118 kp.kP 
2. jkpo;ehl;bd; Mz;L ruhrhp kiog;nghopT 958.5 nr.kP 
a. 1 kl;Lk; rhp b. 2 kl;Lk; rhp c. ,uz;lk; rhp 
d. ,uz;Kk; jtW e. tpil njhpatpy;iy 
 

49. Assertion (A) : Rajasthan and Western part of India do not get much rainfall 
from Arabian sea branch of southwest monsoon. 
Reason (R) : Aravalli mountain is located parallel to the wind direction. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W (A) : ,uh[];jhd; kw;Wk; tl,e;jpahtpd; Nkw;FgFjp njd;Nkw;F 
gUtf;fhw;wpdhy; kio ngWtjpy;iy. 
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fhuzk; (R) : Muty;yp kiyj;njhlu; ,f;fhw;W tPRk; jpirf;F ,izahf 
mike;Js;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 
tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 
tpsf;fky;y. 
c. (A) rup> Mdhy; (R) jtW. 
d. (A) jtW> Mdhy; (R) rup.   
e. tpil njhpatpy;iy 
 

50. Choose the correct statement/s 
1. Project Tiger was launched in April, 1973 
2. There are five Tiger Reserves in Tamilnadu 
3. At present there are 50 Tiger Reserves in India 
a. 2, 3   b. 1, 2    c. 1, 3    
d. All are correct e. Answer not known 
gpd;tUtdtw;wpy; rhpahd $w;Wfis fz;lwpf 
1. Gypfs; ghJfhg;G jpl;lk; Vg;uy;> 1973Mk; Mz;L njhlq;fg;gl;lJ. 
2. jkpo;ehl;by; Ie;J Gypfs; ghJfhg;gfk; cs;sJ 
3. jw;NghJ ,e;jpahtpy; 50 Gypfs; ghJfhg;gfk; cs;sJ 
a. 2, 3   b. 1, 2    c. 1, 3   
d. midj;Jk; rhp e. tpil njhpatpy;iy 
 

51. Pick the odd one out regarding Biosphere Reserve 
a. Manas   b. Simlipal    c. Nokrek    
d. Panna  e. Answer not known  
caph;f;Nfhs ghJfhg;gfk; njhlh;ghf nghUe;jhj xd;iw fz;lwpf 
a. kdh];  b. rpk;ypghy;   c. Nehf;nuf;   
d. gd;dh  e. tpil njhpatpy;iy 
 

52. Gulf of Mannar Marine National Park was established in _________ 
a. 1986  b. 1987   c. 1988   
d. 1989  e. Answer not known 

 kd;dhh; tisFlh flw;rhh; g+q;fh Vw;gLj;jg;gl;l Mz;L _______ 
a. 1986  b. 1987   c. 1988   
d. 1989  e.  tpil njhpatpy;iy 

 
53. Match the following 

National Parks  State 
A. Dachigam   1. West Bengal 
B. Dudhwa   2. Arunachal Pradesh 
C. Namdapha  3. Uttar Pradesh 
D. Jaldapara   4. Jammu Kashmir 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 2 1 4 3 
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d. 2 1 3 4 
e. Answer not known 
nghUj;Jf: 
capu;f;Nfhs fhg;gfq;fs; khepyk; 
A. lr;rpfk;   1. Nkw;F tq;fk; 
B. J}j;th   2. mUzhr;ry; gpuNjrk; 
C. ek;jgh   3. cj;jpugpuNjrk; 
D. [y;jguh   4. [k;K fh~;kPh; 
 
 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 2 1 4 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

54. Which of the following statements about Indus Valley Civilization is/are 
correct? 
(i) It represents the first phase of Urbanization in India. 
(ii) The civilization appeared in North Western part of India and Pakistan. 
(iii) It appeared 2000 BCD 
(iv) Harappa was the first site to be identified in this civilization. 
a. i, ii, iii only  b. ii, iv only   c. i, ii, iv only  
d. all the above e. Answer not known 
gpd;tUtdtw;Ws; rpe;J rkntsp ehfhpfj;ijf; Fwpj;J vit rhpahd 
thf;fpaq;fs; ? 
i. ,e;jpahtpy; Kjw;fl;l efukakhf;fj;jpd; rpd;dk; rpe;J ehfhpfkhFk;. 
ii. ,e;j ehfhpfk; ,e;jpahtpd; tlNkw;Fg; gFjpapYk; ghfp];jhdpYk; 

Njhd;wpaJ. 
iii. ,J ngh.m.K. 2000 fhy mstpy; Njhd;wpaJ. 
iv. ,e;ehfhpfk; milahsk; fhzg;gl;l Kjy; ,lk; `ug;gh. 
a. i, ii, iii kl;LNk  b. ii, iv kl;LNk   c. i, ii, iv kl;LNk   
d. midj;Jk; e. tpil njhpatpy;iy 

 

55. Choose the correct pair/s 
(i) Mehrauli Iron Pillar inscription – Chandragupta II 
(ii) Allahabad pillar inscription – Samudragupta 
(iii) Sanchi inscription – Chandragupta I 
(iv) Damodarpur copper plate – Budha gupta 
a. i, ii, iii   b. ii, iv    c. ii, iii, iv   
d. all the above  e. Answer not known 
rhpahdij Njh;T nra;f. 
i. nkf;Usp ,Uk;Gj;J}z; fy;ntl;L - ,uz;lhk; re;jpu Fg;jh;. 
ii. myfhghj; J}z; fy;ntl;L – rKj;jpuFg;jh;. 
iii. rhQ;rp fy;ntl;L – Kjyhk; re;jpu Fg;jh;. 
iv. jhNkhjh;G+h; nrg;NgL – Gj;j Fg;jh; 
a. i, ii, iii   b. ii, iv    c. ii, iii, iv   
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d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

56. Which of the following is one of the areas of the world where agriculture and 
animal domestication began very early? 
a. Rakhigarhi   b. Mehergarh  c. Burzahom   
d. Banawali   e. Answer not known 
gpd;tUtdtw;Ws; vJ cyfpy; Ntshz;ikAk; tpyq;F tsh;g;Gk; kpf Kd;Ng 
njhlq;fptpl;l gFjpfspy; xd;whFk;? 
a. uhf;fpfhh;`p  b. nk`h;fh;    c. gh;rN`hk;   
d. gdthyp   e. tpil njhpatpy;iy 

57. Match the following 
A. Shell   1. Nageshwar and Balakot 
B. Lapis Lazuli  2. Shortughai 
C. Carnelian   3. Lothal 
D. Steatite   4. South Rajasthan 
E. Copper   5. Rajasthan and Oman 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 3 5 4 
c. 3 2 1 4 5 
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. rq;F   1. ehNf~;th; kw;Wk; ghyNfhl; 
B. it^hpak;   2. ~hh;Lif 
C. fhh;dpypad;(kzp)  3. Nyhj;jy; 
D. ];Bl;ill;(Eiuf;fy;) 4. njw;F uh[];jhd; 
E. nrk;G   5. uh[];jhd; kw;Wk; Xkd; 

A  B  C  D  E  
a.  1  2  3  4  5  
b.  2  1  3  5  4  
c.  3  2  1  4  5  
d. 5  4  3  2  1 
e. tpil njhpatpy;iy 
 

58. Match the following 
Book     Author 
A. Nitisara    1. Vishakadutta 
B. Devichandraguptam  2. Aryabhatta 
C. Surya Siddanta   3. Kamandaka 
D. Mahabhashya   4. Patanjali 
 A B C D 
a. 1 2 3 4 
b. 3 4 1 2 
c. 3 1 2 4 
d.  3 2 4 1 
e. Answer not known 
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nghUj;Jf. 
E}y;     Mrphpah; 
A. ePjprhuh    1. tprhfjj;jh 
B. Njtpre;jpuFg;jk;   2. Mh;agl;lh; 
C. #h;a rpj;jhe;jh   3. fhkhe;jfh 
D. k`hgh~;ak;   4. gjQ;ryp 

 
 
 
A B C D 

a. 1 2 3 4 
b. 3 4 1 2 
c. 3 1 2 4 
d.  3 2 4 1 
e. tpil njhpatpy;iy 
 

59. Choose the correct statements  
(i) The Gupta king was assisted by a council of Mantrins. 
(ii) The Allahabad prashasti refers to an council, presumably of Ministers 

which was known as the Sabha. 
(iii) Sandhivigrahika (or) Mahasandhivigrahika were high ranking 

functionaries. 
a. i, ii, iii  b. i, iii only   c. i, ii only   
d. ii, iii only  e. Answer not known 
rhpahd thf;fpaj;ij Njh;T nra;f. 
i. Fg;j kd;dUf;F ke;jphpfs; rig cjtp nra;jJ. 
ii. myfhghj; gpu~];jp vd;gJ ke;jphpfspd; rigiaf; Fwpf;fpwJ> ,J 

rig vd;Wk; mwpag;gl;lJ. 
iii. rhe;jptpf;u`pfh my;yJ kfhre;jptpf;u`pfh cah; gjtpapy; 

,Ue;jth;fs;. 
a. i, ii, iii  b. i, iii kl;Lk;   c. i, ii kl;Lk;   
d. ii, iii kl;Lk;  e. tpil njhpatpy;iy 
 

60. Which source mention about Ashtakula – Adhikarana headed by the 
Mahattara in the reign of Budhagupta? 
a. Eran pillar inscription   b. Paharpur plates 
c. Damodar copper plate   d. Sanchi inscription 
e. Answer not known 
Gj;jFg;jh; Ml;rpfhyj;jpy;> k`hjhuh vd;gth; jiyikapyhd m~;lFy – 
mjpfhudhitg; gw;wp Fwpg;gpLtJ vJ? 
a. <uhd; J}z; fy;ntl;L   b. guf;G+h; jl;Lfs; 
c. jhNkhjh; nrg;Gj; jfL   d. rhQ;rp fy;ntl;L 
e. tpil njhpatpy;iy 
 

61. Match the following 
A. Kshetra   1. Waste land 
B. Khila   2. Jungle or waste land 
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C. Aprahata   3. Pastoral land 
D. Vasti   4. Cultivable land 
E. Gapata Saraha  5. Habitable land 
 A B C D E 
a. 1 2 3 4 5 
b. 2 3 1 4 5 
c. 4 1 2 5 3 
d. 3 2 5 4 1 
e. Answer not known 
 
nghUj;Jf. 
A. N~j;uh   1. ghoile;j epyk; 
B. fpyh   2. fhL my;yJ ghohd epyk; 
C. mg;u`jh   3. Nka;r;ry; epyk; 
D. t];jp   4. rhFgb epyk; 
E. fgl ru`h  5. thoj;jFe;j epyk; 

A B C D E 
a. 1 2 3 4 5 
b. 2 3 1 4 5 
c. 4 1 2 5 3 
d. 3 2 5 4 1 
e. tpil njhpatpy;iy 
 

62. Choose the correctly matched pairs 
Types of Tenures   Nature of Holding 
(i) Nividharma   - A perpetual endowment 
(ii) Nividharma Aksayana - Endowment of a land under a kind 

of    
trusteeship 

(iii) Aprada Dharma  - Income from land could be enjoyed  
but the recipient is not permitted to  
gift it to anyone 

(iv) Bhumichchi dranyaya - The land free from any rent liability 
a. i, ii, iii only   b. iii, iv only   c. i, iii only   
d. all the above  e. Answer not known 
rhpahf nghUe;jpAs;s ,iziaj; Njh;T nra;f. 
gjtpf;fhyj;jpd; tiffs;  itj;jpUf;Fk; jd;ik 
i) eptpjh;kk;    -  epue;jukhd mwf;fl;lis 
ii) eptpjh;k mf;radh – mwf;fl;lis Nghd;w mikg;gpd; %yk; epykhdpak;  
iii) mg;ujh jh;kk; - epyj;jpd; tUkhdj;ij mDgtpf;f KbAk; Mdhy; 

ngWgth; mij ahUf;Fk; ghprhf mspf;f 
mDkjpg;gjpy;iy 

 iv) G+kpr;rpj;uhd;ahah  - ve;j thlif nghWg;Gk; ,y;yhj epyk; 
a. i, ii, iii kl;Lk;  b. iii, iv kl;Lk;  c. i, iii kl;Lk;  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

63. Choose the correctly matched pairs. 
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(i) Sudraka  - Mrichchhakatika 
(ii) Visakhadatta  - Mudraraksasa 
(iii) Varahamihira - Brihat Samhita 
a. all the above  b. i, ii only   c. i, iii only   
d. ii, iii only   e. Answer not known 
rupahf nghUe;jpaij Njh;T nra;f. 
i. #j;ufh;  - kpUr;rfbfk; 
ii. tprhfjj;jh; - Kj;uhf;rrk; 
iii. tuhfkpfpuh; - gpU`j; rk;`pjh 
a. Nkw;fz;l midj;Jk; b. i, ii kl;Lk;      c. i, iii kl;Lk;       
d. ii, iii kl;Lk;   e. tpil njhpatpy;iy 
 

64. Consider the following statement about the instruments of Direct Democracy 
1. Referendum – a proposed legislation is referred to the electorate 
2. Initiative  – obtains the opinion of the people on issues of public 

importance 
3. Recall – Voters can Remove a representative before the expiry of his term 
4. Plebiscite  – people can propose a bill to the legislature for enactment. 
Which among the statements is/are incorrect? 
a. 2 and 4  b. 1 and 4   c. 2 and 3   
d. 1 and 3  e. Answer not known 
Neub [dehafj;jpd; $Wfs; gw;wpa $w;Wfis Ma;f 
1. fUj;Jf;fzpg;G - thf;fhsh;fshy; xU Kd;nkhopag;gl;l rl;lk; vd;gijf; 

Fwpf;fpwJ. 
2. kf;fs; fUj;J Kd;tbT - nghJ Kf;fpaj;Jtg; gpur;ridfspy; kf;fspd; 

fUj;ijg; ngWtJ 
3. jpUk;g mioj;jy; - Njh;e;njLf;fg;gl;l gpujpepjpfs; mth;fsJ 

gjtpf;fhyk; KbAk; Kd;G thf;fhsh;fshy; ePf;f ,aYk;. 
4. nghJthf;nfLg;G  - rl;lkd;wj;jpy; xU kNrhjhit 

epiwNtw;Wtjw;F kf;fs; Kd;nkhopayhk;. 
a. 2 kw;Wk; 4  b. 1 kw;Wk; 4   c. 2 kw;Wk; 3   
d. 1 kw;Wk; 3  e. tpil njhpatpy;iy 

 
65. In the Berubari Union case of 1960, the Supreme Court observed that 

Preamble _________ 
a. “Is neither a source of power to the legislature nor a prohibition upon the 

powers of legislature” 
b. “Is non-justiciable, its provisions are not enforceable in courts of laws” 
c. “Is of extreme importance and the constitution should be read and 

interpreted in the light of the grand noble vision expressed” 
d. “Shows the general purposes behind the several provisions in the 

Constitution”. 
e. Answer not known 
ngUghhp A+dpad; 1960k; Mz;L tof;fpy;> Kfg;Giu Fwpj;j cr;rePjpkd;wk; 
Fwpg;gpLtJ ________.  
a. rl;lkd;wj;jpd; mjpfhuq;fs; kPJ rl;lkd;wj;jpw;F mjpfhu MjhuNkh 

my;yJ jilNah my;y. 
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b. epahakw;wJ mjd; tpjpfs; ePjpkd;wq;fspy; nray;gLj;j KbahJ. 
c. mjpf Kf;fpaj;Jtk; tha;e;jJ kw;Wk; murpayikg;G gbf;fg;gl Ntz;Lk; 

kw;Wk; xspg;gLj;jg;gl;l cd;djkhd ghh;itapd; ntspr;rj;jpy; 
tpsf;fg;gl;lJ. 

d. murpayikg;gpy; cs;s nghJthd gy fUj;Jfis ntspg;gLj;JfpwJ. 
e. tpil njhpatpy;iy 
 

66. “It Resembles the Declaration of independence of the United States of 
America, but is more than a declaration. It is the soul of our Constitution ….” 
This Statement is attributed to  
a. Fundamental Duties  b. Fundamental Rights 
c. Preamble    d. DPSP 
e. Answer not known 
“,J mnkhpf;fhtpd; Rje;jpug; gpufldj;ij xj;jpUf;fpwJ> Mdhy; 
mnkhpf;fhtpd; gpufldj;ij tpl Nkk;gl;lJ> ,J murpayikg;gpd; Md;kh” 
Nkw;$wpa thf;fpak; vjDld; njhlh;GilaJ? 
a. mbg;gil flikfs;  b. mbg;gil chpikfs; 
c. KfTiu    d. muR newpKiwf; Nfhl;ghLfs; 
e. tpil njhpatpy;iy 
 

67. Which of the following statement is/are correct regarding the concept of 
Socialism as mentioned in the preamble? 
I. The term Socialism was added by the 42nd Amendment in 1976 
II. Indian Brand of Socialism is “Democratic Socialism” also known as 

State Socialism. 
III. Democratic Socialism involves the nationalization of all means of 

production and distribution / abolition of Private property. 
IV. Democratic socialism aims to end poverty, ignorance, disease and 

inequality. 
Select the correct answer using the codes below: 
a. I, II and III  b. I and IV   c. I, II and IV   
d. I and II  e. Answer not known 
KfTiuapy; Fwpg;gplg;gl;Ls;s Nrhryprk; Fwpj;j thf;fpaq;fspy; vJ/vit 
rhp? 

I. Nrhryprk; vd;w thh;j;ij 42tJ rl;ljpUj;jk; 1976y; Nrh;f;fg;gl;lJ.  
II. ,e;jpa tif Nrhryprk; vd;gJ „[dehaf Nrhryprk;‟. ,J muR 

Nrhryprk; vdTk; mwpag;gLfpwJ. 
III. [dehaf Nrhryprk; vd;gJ cw;gj;jp kw;Wk; gfph;T midj;ijAk; 

Njrpakakhf;Fjy; kw;Wk; jdpahh; nrhj;Jf;fis mopj;jy;. 
IV. [dehaf Nrhryprk; Fwpf;Nfhs; tWik> mwpahik> Neha;> rkj;Jtkpd;ik 

,tw;iw KbTf;Ff; nfhz;LtUtJ. 
,tw;wpy; rhpahdtw;iwj; Njh;e;njL 
a. I, II kw;Wk; III b. I kw;Wk; IV   c. I, II kw;Wk; IV   
d. I kw;Wk; II  e. tpil njhpatpy;iy 
 

68. Who told “Political Democracy cannot last unless there lies at the base of it 
Social Democracy”? 
a. Jawaharlal Nehru  b. Mahatma Gandhi 
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c. B.R. Ambedkar  d. Supreme Court of India 
e. Answer not known 
“r%f [dehaf mbg;gilapy; cUthfhj murpay; [dehafk; epiyj;jpUf;f 
KbahJ” vd;gJ ahUila $w;W? 
a. [t`h;yhy; NeU  b. kfhj;kh fhe;jp 
c. B.R. mk;Ngj;fh;  d. ,e;jpa cr;rePjpkd;wk; 
e. tpil njhpatpy;iy 
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69. Which of the following statements is/are correct regarding the special status 
to Jammu and Kashmir? 
I. The Constitution (Application to Jammu and Kashmir) order 1954 was 

replaced by the Constitution Order, 2019 
II. The 2019 order extended few New Provisions of the constitution of 

India to Jammu and Kashmir 
III. The inoperative Article 370 has been removed from the text of the 

Constitution 
Select the correct answers using the codes below: 
a. I and III only b. I, II and III   c. I and II only  
d. I only  e. Answer not known 
[k;K fh~;kPhpd; rpwg;G me;j];J Fwpj;j rhpahd thf;fpaq;fs; vJ? 
I. [k;K fh~;kPh; murpayikg;G Miz 1954 -f;F gjpyhf murpayikg;G 

Miz 2019y; ntspaplg;gl;lJ. 
II. 2019 Miz rpy Gjpa gFjpfis ,e;jpa murpayikg;gpy; [k;K 

fh~;kPUf;fhf mjpfkhf;fpaJ. 
III. gad;ghl;by; ,y;yhj ~uj;J 370 ,e;jpa murpayikg;gpy; ,Ue;J 

ePf;fg;gl;lJ.  
rhpahd tpiliaj; Njh;e;njL 
a. I kw;Wk; III kl;Lk;  b. I, II kw;Wk; III  c. I kw;Wk; II kl;Lk;  
d. I kl;Lk;   e. tpil njhpatpy;iy 
 

70. The following features of the Indian Constitution are part of _______ 
1. They impose a moral obligation on the state authorities 
2. The real sanction behind them is political, that is public opinion 
3. It seek to establish a welfare state in India. 
a. Preamble     b. Fundamental Rights 
c. Directive Principles of State Policy d. Fundamental Duties 
e. Answer not known 
gpd;tUk; ,e;jpa murpayikg;gpd; ,ay;Gfisf; nfhz;Ls;s gFjp ______ 
1. mitfs; muRfs; kPJ xU jhh;kPff; flikia Rkj;JfpwJ. 
2. nghJf; fUj;JUthf;fk; vd;gJ murpayikg;gpy; xU Kf;fpa mq;fkhFk;. 
3. ,J ,e;jpahtpy; xU ey muir epWt Kay;fpwJ. 
a. KfTiu      b. mbg;gil chpikfs; 
c. muR newpKiwf; Nfhl;ghLfs;  d. mbg;gil flikfs; 
e. tpil njhpatpy;iy 
 

71. Consider the following statement about, India being a “secular state” 
a. The Indian constitution embodies the positive concept of secularism i.e. 

protecting all religion equally 
b. The Western concept of secularism connotes a complete separation 

between the religion and the state. 
a. (a) and (b) are correct  b. (a) and (b) are wrong 
c. (a) is correct but (b) is wrong d. (a) is wrong but (b) is correct 
e. Answer not known 
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,e;jpah “kjr;rhh;gw;w ehL” vd;gJ gw;wpa $w;Wfis Ma;f 
a. ,e;jpa murpayikg;G vd;gJ Neh;kiwahd kjr;rhh;gw;w fUj;ij 

cs;slf;fpaJ mjhtJ midj;J kjq;fisAk; rkkhfg; ghJfhg;gJ. 
b. Nkw;fj;jpa ehLfis nghUj;jtiu kjr;rhh;gpd;ik vd;gJ ehLk; kjKk; 

NtW NtW vd;gNj MFk; 
a. (a) kw;Wk; (b) ,uz;Lk; rup b. (a) kw;Wk; (b) ,uz;Lk; jtW 
c. (a) rhp Mdhy; (b) jtW d. (a) jtW Mdhy; (b) rhp 
e. tpil njhpatpy;iy 
 

72. Choose the incorrectly matched pair regarding the “Sources of the 
Constitution. 
I. Government of India Act of 1935  – appointment of State  

Governors by the Centre 
II. Irish Constitution    – method of election of  

president. 
III. U.S. Constitution    – Post of Vice President 
IV. Australian Constitution   – election of members of Rajya Sabha 
a. I and IV  b. I and II   c. III and IV   
d. IV only  e. Answer not known 
“murpayikg;G vq;fpUe;J vLf;fg;gl;lJ” vd;gJ Fwpj;J rhpahfg; nghUe;jhj 
N[hb vit?  
I. ,e;jpa murhq;fr; rl;lk; 1935 - khepy MSeh;fs; kj;jpa murhy; epakdk; 
II. Iah;yhe;J murpayikg;G - FbauRj;jiyth; Njh;jy; Kiw 
III. mnkhpf;f murpayikg;G  - Jizf;FbauRj; jiyth; gjtp 
IV. M];jpNuypa murpayikg;G - uh[;argh cWg;gpdh;fs; Njh;jy; 
a. I kw;Wk; IV  b. I kw;Wk; II   c. III kw;Wk; IV  
d. IV kl;Lk;  e. tpil njhpatpy;iy 
 

73. Match the following 
List I (Schedule)  List II (Content) 
A. Second Schedule  1. Division of Powers 
B. Third Schedule  2. Forms of Oaths 
C. Fourth Schedule  3. Provision on emoluments, allowances, 
privileges  

 D. Seventh Schedule 4. Seats in the Rajya Sabha 
A B C D 

a. 3 2 1 4 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 

   gl;bay; I (ml;ltiz)  gl;bay; II (mlf;fk;) 
A. ,uz;lhtJ ml;ltiz   1. mjpfhug; gfph;T 
B. %d;whtJ ml;ltiz   2. cWjpnkhopfspd; tbtq;fs; 
C. ehd;fhtJ ml;ltiz   3. Cjpak; toq;Fjy;> nfhLg;gdTfs;> 

rYiffs; 
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D. VohtJ ml;ltiz   4. khepyq;fsitapy; cs;s ,lq;fs; 
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A B C D 
a. 3 2 1 4 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

74. Choose the correctly matched pair regarding the committees of the 
constituent assembly. 
I. House Committee    – Pattabi Sitaramaya 
II. Credentials Committee   – Dr. K.M. Munshi 
III. Linguistic Provinces Commission – Alladi Krishnaswami Ayyar 
IV. Adhoc Committee on Citizenship – S. Varadachari. 
a. All are correct  b. II and III only  c. I and III only 
d. I and IV only  e. Answer not known 
FOf;fs; njhlh;ghf rhpahd ,iziaf; fhz;f 
I. `T]; fkpl;b    - gl;lhgp rPjhuhika;ah 
II. ew;rhd;wpjo; FO      - lhf;lh; Nf.vk;. Kd;~p 
III. nkhopthhp khfhz Mizak;   - my;yhb fpU~;zrhkp  

                               Ia;ah; 
IV. FbAhpikf;fhd jw;fhypf FO  - tujhr;rhhp 
a. midj;Jk; rhp   b. II kw;Wk; III rhp 
c. I kw;Wk; III kl;Lk; rhp  d. I kw;Wk; IV kl;Lk; rhp 
e. tpil njhpatpy;iy 
 

75. The cabinet mission which consisted of three members arrived in India on 
a. May 16, 1946   b. January 6, 1946 
c. March 24, 1946   d. April 26, 1946 
e. Answer not known 
%d;W cWg;gpdh;fs; nfhz;l mikr;ruitf;FO ,e;jpah vg;NghJ te;jJ? 
a. Nk 16> 1946   b. [dthp 6> 1946 
c. khh;r; 24> 1946   d. Vg;uy; 26> 1946 
e. tpil njhpatpy;iy 
 

76. Consider the following statement regarding the qualification of the President  
a. In India both Citizen by birth as well as naturalized citizen are eligible for 

the office of President. 
b. In USA, only a Citizen by birth and not a naturalized Citizen is eligible for 

the office of President. 
Choose the correct answer from the options given below 
a. (a) is wrong but b is correct 
b. (a) is correct but b is wrong 
c. (a) and (b) are wrong 
d. (a) and (b) are correct 
e. Answer not known 
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FbauRj; jiytUf;fhd jFjp Fwpj;j thf;fpaq;fisf; ftdp. 
a. ,e;jpa gpwg;ghy; FbAhpik ngw;wth; kw;Wk; ,ay;Ghpik %yk; FbAhpik 

ngw;w ,UtUNk FbauRj; jiyth; gjtp tfpf;fj; jFjp cilath;. 
b. mnkupf;fhtpy; gpwg;ghy; FbAhpik ngw;wth; kl;LNk FbauRj;jiyth; gjtp 

tfpf;fj; jFjp cilath;. ,ay;Ghpikahy; FbAhpik ngw;wth; jFjp 
mw;wth;. 

fPo;f;fz;ltw;wpy; rhpahd tpiliaj; Njh;T nra;. 
a. (a) jtW Mdhy; (b) vd;gJ rhp  
b. (a) rhp Mdhy; (b) vd;gJ jtW 
c. (a) kw;Wk; (b) ,uz;Lk; jtW   
d. (a) kw;Wk; (b) ,uz;Lk; rup  
e. tpil njhpatpy;iy  
 

77. Which article of the Indian Constitution empowers the Parliament to regulate 
the Right of Citizenship by Law? 
a. Article 9  b. Article 10   c. Article 8   
d. Article 11  e. Answer not known 
FbAhpikf;fhd chpikia rl;lj;jpd; %yk; ghuhSkd;wk; xOq;FgLj;Jk; 
~uj;J vJ? 
a. cWg;G 9  b. cWg;G 10   c. cWg;G 8   
d. cWg;G 11  e. tpil njhpatpy;iy 
 

78. Which of the following statements is/are correct regarding overseas 
citizenship of India? 

I. In September 2000, the Government of India has set up a high level 
committee on the Indian Diaspora under the Chairmanship of L.M. 
Singhvi 

II. The committee submitted its report on January 2002 
III. On the recommendation of the committee, the citizenship amendment 

act 2003, made provision for the acquisition of overseas citizenship of 
India (OCI) by the PIOs of 16 specified countries other than Pakistan 
and Bangladesh 

IV. The Citizenship (Amendment) Act 2005, expanded the scope of grant 
of OCI, for PIOs of all countries except Pakistan and Bangladesh 

a. I, II and IV only  b. I, II and III only c. II, III and IV wrong  
d. I, II, III and IV only e. Answer not known 
ntspehLtho; ,e;jpaf; FbAhpik Fwpj;j rhpahd thf;fpaj;ijf; fz;lwp. 
I. ,e;jpa Gyk;ngah;e;NjhUf;fhd cah;kl;l FOit ,e;jpa murhq;fk; 

nrg;lk;gh; 2000y;> L.M. rpq;tpia jiytuhff; nfhz;L mikj;jJ. 
II. [dtup 2002y; FO jdJ mwpf;ifia rkh;g;gpj;jJ. 
III. FOtpd; ghpe;Jiuapd; mbg;gilapy; FbAhpik jpUj;jr;rl;lk; 2003> 

ntspehL tho; ,e;jpah;fs; ,e;jpa  FbAhpik ngw rpy tuk;Gfis 
tpjpj;jJ. mjd;gb 16 Fwpg;gpl;l ehl;ilr; Nrh;e;j (ghfp];jhd; kw;Wk; 
tq;fNjrk; jtpu) ,e;jpa tk;rhtspiar; Nrh;e;jth;fs; ntspehL tho; 
,e;jpaf; FbAhpikia ngwyhk;.  

IV. ,e;jpaf; FbAhpikj; jpUj;jr; rl;lk; 2005> ntspehL tho; ,e;jpaf; 
FbAhpik vd;gJ midj;J ehLfspYk; cs;s (ghfp];jhd; kw;Wk; 
tq;fNjrk; jtpu) ,e;jpa tk;rhtspapdUf;Fk; toq;fpaJ. 

a. I, II kw;Wk; IV kl;Lk;  b. I, II kw;Wk; III kl;Lk; 
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c. II, III kw;Wk; IV jtW  d. I, II, III kw;Wk; IV kl;Lk; 
e. tpil njhpatpy;iy 

79. Consider the following statement on the Constituent Assembly 
1. The constituent assembly was set up under the Cabinet Mission Plan 1946 
2. The assembly consisted of 292 members representing the British Province, 

93 from Princely states and 4 from the Chief Commissioner Province. 
3. The assembly held its first meeting on December 6, 1946 
4. The assembly met for 21 sessions along with 161 days of meeting 
Which among the following statement is/are wrongly listed? 
a. 3 only   b. 2 and 3 only  c. 1 and 2 only  
d. 3 and 4 only  e. Answer not known 
murpayikg;G eph;zarig Fwpj;j $w;Wfis Ma;f 
1. Nfgpdl; kp~d; jpl;lk; 1946-d; gb> murpayikg;G eph;zarig 

cUthf;fg;gl;lJ. 
2. murpayikg;G eph;zarig vd;gJ 292 gphpl;b~; khfhz cWg;gpdh;fs;> 93 

RNjr muRfs; kw;Wk; 4 Kjd;ik khfhz cWg;gpdh;fs;. 
3. rigapd; Kjy; $l;lk; brk;gh; 6> 1946y; eilngw;wJ. 
4. rig $l;lk; 161 ehl;fs; 21 mkh;TfSld; eilngw;wJ. 
jtwhd $w;Wfis fz;lwpf 
a. 3 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk;  
d. 3 kw;Wk;  4 kl;Lk;  e. tpil njhpatpy;iy 
 

80. Consider the following statement on citizenship  
1. The Indian constitution has provision for single citizenship 
2. It is provided by the union and need to be recognized by all the states 

across India 
3. The Constitution contains provisions regarding registration of overseas 

citizen of India and their rights. 
4. The Citizenship Act 1955, regulates Citizenship in India after the adoption 

of the Indian Constitution 
Which among the following statement is/are correct? 
a. 1, 2 and 4 only  b. 1, 3 and 4 only  c. 2, 3 and 4 only  
d. All of the above  e. Answer not known 

 FbAhpik Fwpj;j thf;fpaq;fisf; ftdp 
1. ,e;jpa murpayikg;G xw;iwf; FbAhpik vd;w ,ay;G nfhz;lJ. 
2. ,J xd;wpaj;jhy; toq;fg;gLtJ kw;Wk; ,e;jpahtpd; midj;J khepyj;jhy; 

mq;fPfhpf;fg;gl Ntz;Lk;. 
3. ,e;jpa murpayikg;G Xth;rP]; ,e;jpa Fbkfdpd; gjpT kw;Wk; chpik 

Fwpj;j gFjpfisf; nfhz;lJ. 
4. FbAhpikr; rl;lk; 1955> ,e;jpaf; FbAhpikia ,e;jpa murpayikg;G 

Vw;Wf;nfhz;ljw;Fg;gpd; xOq;FgLj;JfpwJ. 
a. 1, 2 kw;Wk;  4 kl;Lk; b. 1, 3 kw;Wk;  4 kl;Lk; c. 2, 3 kw;Wk;  4 kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
81. The Qualitative credit control measures of RBI includes  

i. Moral suasion   ii. Regulation of consumer's credit  
iii. Rationing of credit  iv. Direct Action  
a. i  and ii    b. i, iii and iv   c. i and iii  
d. all the above   e. Answer not known 
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RBI –d; fld; jd;ikf; fl;Lg;ghl;L Kiwfs;  
i. newpKiw J}z;ly; 
ii. Efu;Nthu; flid newpg;gLj;Jjy; 
iii. fld; gq;fPL 
iv. Neub eltbf;if  
a. i kw;Wk; ii   b. i, iii kw;Wk; iv  c. i kw;Wk; iii   
d. midj;Jk;   e. tpil njhpatpy;iy 
 

82. Which of the following statements about Goods and service tax is/are 
correct? 
i. The GST Bill was passed in the parliament on 29th March 2017. 
ii. The act came into effect on 1st July 2017. 
iii. GST is one indirect tax for the entire country. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; ruf;F kw;Wk; Nrit tup Fwpj;J rupahdit vit? 
i. ,r;rl;lk; 2017 khu;r; 29-y; ghuhSkd;wj;jhy; epiwNtw;wg;gl;lJ. 
ii. ,r;rl;lk; [_iy 1> 2017 Kjy; eilKiwf;F te;jJ. 
iii. ,e;jpah KOtjw;Fkhd xNu kiwKf thpahFk;. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
83. Match the following 

Finance Commission Chairman 
A. Eighth   1. N.K.P. Salve 
B. Ninth   2. A.M. Khusro 
C. Tenth   3. K.C. Pant 
D. Eleventh   4. Y.B. Chavan 
 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
c. 2 4 3 1 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf. 
epjpf;FO   jiytu; 
A. vl;lhtJ   1. N.K.P. rhy;Nt 
B. xd;gjhtJ   2. A.M. F];Nuh 

C. gj;jhtJ   3. K.C. ge;j; 
D. gjpndhwhtJ  4. Y.B. rthd; 
 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
c. 2 4 3 1 
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d. 2 1 3 4 
e. tpil njhpatpy;iy 

 
84. Choose incorrect pair 

a. Money Laundering Act – 2002  b. Benami Transactions Act – 2016 
c. Real Estate Regulation Act – 2017 d. Black Money Act – 2015 
e. Answer not known 
jtwhd ,izapid fz;Lgpbf;f:- 
a. gzNkhrb rl;lk; - 2002 
b. gpdhkp ghpth;j;jid rl;lk; - 2016 
c. kid tpw;gid xOq;FgLj;Jjy; rl;lk; - 2017 
d. fUg;G gzr; rl;lk; - 2015 
e. tpil njhpatpy;iy 

 
85. M. Narasimman Committee – II on financial sector reforms was appointed in 

___ 
a. 1991  b. 1992   c. 1998   
d. 1999  e. Answer not known 
epjpj;Jiw rPu;j;jpUj;jj;jpw;fhf ,uz;lhk; Kiwahf vk;.eurpk;kd; FO 
epakpf;fg;gl;l Mz;lhdJ _____. 
a. 1991  b. 1992   c. 1998   
d. 1999  e. tpil njhpatpy;iy 

 
86. Choose correct pair 

1. M0 – Reserve Money 
2. M1 – Narrow Money 
3. M4 – Broad Money 

a. 1, 2   b. 1 alone   c. 1, 3   
d. 1, 2, 3  e. Answer not known 
rhpahd N[hbapid Njh;enjL:- 
1. M0 - ,Ug;G gzk; 
2. M1 – FWfpa gzk; 
3. M4 – gue;Jgl;l gzk; 
a. 1, 2   b. 1 kl;Lk;   c. 1, 3   
d. 1, 2, 3  e. tpil njhpatpy;iy 

 
87. Monetary policy is a _____ 

a. Micro economic policy b. Macro-economic policy  c. both a and b 
d. Neither a nor b  e. Answer not known 
gztpay; nfhs;ifahdJ ____. 
a. Ez;zpd nghUspay; nfhs;if  b. Nghpapay; nghUspay; nfhs;if 
c. (a) kw;Wk; (b)    d. ,uz;LNk ,y;iy 
e. tpil njhpatpy;iy 

 
88. In 2007, Committee on financial sector reforms was headed by _____ 

a. Raghuram Rajan  b. Bimal Jalan    c. C. Rangarajan  
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d. Narasimhan  e. Answer not known 
2007 Mk; Mz;by; _____ vd;gtUila jiyikapy; epjpj;Jiw rPh;j;jpUj;jf; 
FO Vw;gLj;jg;gl;lJ. 
a. uFuhk; uh[d;  b. gpky; [yhd;  c. rp. uq;uh[d;  
d. eurpk;kd;   e. tpil njhpatpy;iy 
 

89. Choose incorrect pair 
a. IRDAI – 1999   b. New Pension Scheme – 2004 
c. SARFAESI Act – 2003  d. SEBI – 1992 
e. Answer not known 
jtwhd ,izia Njh;e;njLf. 
a. ,e;jpa fhg;gPl;L xOq;FKiw Mizak; - 1999 
b. Gjpa Xa;Tjpa jpl;lk; - 2004 
c. epjp nrhj;Jfspd; ghJfhg;G kw;Wk; Gzuikg;G kw;Wk; ghJfhg;G tl;br; 

rl;lk; - 2003 
d. ,e;jpa gq;F kw;Wk; ghpth;j;jid thhpak; - 1992 
e. tpil njhpatpy;iy 
 

90. The „economy, of permanence: the practise and precepts of Jesus‟ was written 
by 
a. JC Kumarappa  b. V. K. R. V Rao  c. B.R. Ambedkar  
d. Adam Smith   e. Answer not known 
“epiyj;j nghUshjhuk;> ,NaRtpd; topKiwfs;” vd;w Gj;jfj;ij vOjpath;? 
a. J. C Fkug;gh  b. V. K. R. V uht;  c. B.R. mk;Ngj;fh;  
d. Mlk; ];kpj;  e. tpil njhpatpy;iy 

 

91. Choose the correct statements regarding State Finance Commission (SFC) 
1. SFC is based on Article 243I, 243Y. 
2. SFC recommends funds to be distributed to local bodies. 
3. First Tamilnadu State Finance Commission was established on 23.04.1994 
a. 1, 2     b. 1, 3    c. 2, 3    
d. All of these  e. Answer not known 
khepy epjpf;FO (SFC) njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
1. khepy epjpf;FO rl;lf;$W 243I, 243Y mbg;gilapy; mike;Js;sJ 
2. khepy epjpf;FO cs;shl;rp mikg;GfSf;fhd epjp toq;f ghpe;Jiuf;fpwJ. 
3. jkpofj;jpd; Kjy; khepy epjpf;FO 23.04.1994 md;W mikf;fg;gl;lJ. 
a. 1, 2    b. 1, 3    c. 2, 3   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 

92. Which of the following statement is/are true regarding the Swadeshi 
Movement? 
1. Swadeshi Movement included boycott of foreign goods and Government 

administered educational institutions. 
2. The Elite in India made a conscious effort to address the common people, 

calling upon them to join politics  
3. The Vernacular Press in various parts of India were Dormant during the 

phase of the movement 
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4. Gopal Krishna Gokhale insisted that education should be provided in 
Swadeshi Language. 

a. 1 and 3  b. 1 and 4   c. 1 and 2   
d. 1 only  e. Answer not known 
RNjrp ,af;fk; njhlh;ghd rhpahd $w;wpid fz;lwpf 
1. RNjrp ,af;fk; me;epa nghUl;fs; kw;Wk; muR fy;tp epWtdq;fisAk; 

Gwf;fzpj;jJ. 
2. ,f;fhyf;fl;lj;jpy; jhd; Kjd; Kjyhf cah;Fbapdh; KOKaw;fp 

Nkw;nfhz;L rhkhdpa kf;fsplk; Ngrp mth;fisAk; murpaypy; 
,izj;Jf;nfhs;s mioj;jdh;. 

3. ,e;jpahtpd; gygFjpfspy; cs;s tl;lhu nkhop gj;jphpf;iffs; 
,f;fhyfl;lj;jpy; nrayw;W ,Ue;jd. 

4. Nfhghy fpU~;z NfhfNy RNjrp nkhopapy; fy;tp toq;fg;gl Ntz;Lk; 
vd;W typAWj;jpdhh;. 

a. 1 kw;Wk; 3  b. 1 kw;Wk; 4   c. 1 kw;Wk; 2   
d. 1 kl;Lk;  e. tpil njhpatpy;iy 
 

93. Match the following 
List I (Congress Session)  List II (Year) 
A. Haripura    1. 1905 
B. Tripuri    2. 1939 
C. Belgaum    3. 1924 
D. Benarus     4. 1938 
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf 
gl;bay; 1 (fhq;fpu]; khehLfs;) gl;bay; 2 (Mz;L) 
A. `hpGuh    1. 1905 
B. jphpGhp    2. 1939 
C. ngy;fhk;    3. 1924 
D. gdhu];    4. 1938 
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

94. Which of the following is/are correct regarding Lord Curzon? 
1. Lord Curzon was appointed as the New Governor General and viceroy of 

India in 1899 
2. In 1901 the number of elected representatives in the Calcutta Corporation 

was reduced 
3. The Official Secrets Act of 1902 was amended to curb the nationalist tone 

of Indian newspapers 
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4. In 1903, he drew up a scheme in his minutes on Territorial Redistribution 
of India  

a. 1 and 3 only  b. 2 and 3 only  c. 1 and 4 only  
d. 1 and 2 only  e. Answer not known 
fh;rd; gpuG njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. 1899Mk; Mz;L Gjpa jiyik MSeuhfTk; ,e;jpahtpd; murg; 

gpujpepjpahfTk; fh;rd; gpuG gzp epakdk; nra;ag;gl;lhh;. 
2. 1901Mk; Mz;L fy;fj;jh khefuhl;rp FOtpy; Njh;e;njLf;fg;gl;l 

cWg;gpdh;fspd; vz;zpifia Fiwj;jhh;. 
3. ,e;jpar; nra;jpg; gj;jphpf;iffspd; Njrpathjj; jd;ikiaf; Fiwg;gjw;fhf 

mYtyf ufrpar; rl;lk; 1902 - ,y; jpUj;jk; nfhz;Ltug;gl;lJ. 
4. 1903,y; ,e;jpahtpy; vy;iy kWtiuaiw nra;Ak; jpl;lj;ij 

cUthf;fpdhh; 
a. 1 kw;Wk; 3 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 4 kl;Lk;  d. 1 kw;Wk; 2 kl;Lk; 
e. tpil njhpatpy;iy 
  

95. Consider the following statements 
I. According to Bipin Chandrapal, Swaraj is the attainment of complete 

freedom from any foreign rule 
II. According to Lala Lajpat Rai, Swaraj is restricted to the Indian Control 

over the administration or rule by the Natives, but not total Severance 
of relation with Britain 

a. I and II are incorrect  b. I is incorrect II is correct 
c. I is correct and II is incorrect d. I and II are correct 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
I. gpgpd; re;jpughypd; $w;Wg;gb Rauh[;[pak; vd;gJ me;epah; 

Ml;rpapypUe;J Kw;wpYkhf tpLjiyailjy; vd;gjhFk;. 
II. yhyh y[gjpuhapd; $w;Wg;gb Rauh[;[pak; vd;gJ eph;thfj;jpd; kPjhd 

,e;jpah;fspd; fl;Lg;ghL my;yJ nrhe;j kf;fspd; eph;thfk; kl;LNk 
jtpu ,q;fpyhe;Jldhd cwTfs; midj;ijAk; Jz;bj;Jf; 
nfhs;tjy;y.  

a. I kw;Wk; II jtW   b. I jtW II rhp 
c. I rhp II jtW   d. I kw;Wk; II rhp 
e. tpil njhpatpy;iy 
 

96. Which of the following statement is correct regarding the Khilafat Movement? 
1. Muslims in India organized themselves under the leadership of the Ali 

brothers. 
2. It was anti-British, which inspired Gandhi to support the Muslims to bring 

them into the mainstream of Indian nationalism 
3. The Mappillais of Malabar converted Khilafat Movement into a banner of 

anti-landlord Revolt 
4. The major demand of the Khilafat Movement was that, Muslims sacred 

places must be handed over to the Indian Muslims. 
a. 1, 2 are correct 3, 4 are incorrect 
b. 1, 2, 3, 4 are correct 
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c. 1, 2, 3 are correct, 4 only incorrect 
d. 1, 3 are correct 2, 4 are incorrect 
e. Answer not known 
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fpyhgj; ,af;fk; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. myp rNfhjuh;fs; jiyikapd; fPo; ,e;jpahtpy; ,Ue;j K];yPk;fs; 

xd;Wgl;ldh;. 
2. Mq;fpNyah;fSf;F vjpuhd fsk; fhzTk;> ,e;jpa Njrpak; vd;w Njrpa 

ePNuhl;lj;jpy; K];ypk;fis ,izf;Fk; fhuzpahftk; tpsq;Ftjhy; ,jw;F 
MjuT njhptpf;f fhe;jpabfSf;F Cf;fk; fpilj;jJ. 

3. kyghiur; Nrh;e;j khg;gps;isfs; ,jid epyg;gpuGfSf;F vjpuhd 
fpsh;r;rpahf cUkhw;wk; nra;jdh;. 

4. fpyhgj; ,af;fj;jpd; Kf;fpa Nfhhpf;ifahdJ> ,Ryhkpa Gdpj jyq;fs; 
,e;jpa K];ypk;fsplk; xg;gilf;fg;glNtz;Lk; vd;gjhFk;. 

a. 1> 2 rhp 3> 4 jtW  b. 1> 2> 3. 4 rhp 
c. 1> 2> 3 rhp 4 kl;Lk; jtW d. 1> 3 rhp 2> 4 jtW 
e. tpil njhpatpy;iy 
 

97. Match the following 
A. Dawn Society    1. 1908 
B. National council of Education  2. 1906 
C. Dhaka Anushilan Samiti  3. 1902 
D. The Coral Mill Strike   4. 1905 
 A B C D 
a. 4 3 2 1 
b. 1 4 3 2 
c. 3 4 2 1 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
A. tpbnts;spf; fofk;   1. 1908 
B. fy;tpf;fhd Njrpa fofk;  2. 1906 
C. lhf;fh mDrPyd; rkpjp   3. 1902 

D. Nfhuy; E}w;ghiy Ntiy epWj;jk; 4. 1905 
 A B C D 
a. 4 3 2 1 
b. 1 4 3 2 
c. 3 4 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

98. Match the following 
A. Pacific Coast Hindustan Association  1. Lala Lajpat Rai 
B. Indian League    2. Annie Besant 
C. All India Trade Union Congress 3. Lala Hardayal 
D. Home Rule Movement   4. V.K. Krishna Menon 
 A B C D 
a.  3 4 1 2 
b. 4 3 1 2 
c. 1 2 4 3 
d. 3 4 2 1 
e. Answer not known 
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nghUj;Jf 
A. grpgpf; gpuNjr ,e;J];jhd; mikg;G 1. yhyh y[gjp uha; 
B. ,e;jpa yPf;    2. md;dpngrd;l;  
C. mfpy ,e;jpa njhopw;rq;f fhq;fpu]; 3. yhyh `h;jahs; 
D. jd;dhl;rp ,af;fk;   4. tp.Nf. fpU~;zNkdd; 
 A B C D 
a.  3 4 1 2 
b. 4 3 1 2 
c. 1 2 4 3 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
99. Choose the incorrect one 

a. The moment of England‟s difficulty is the moment of India‟s opportunity – 
Annie Besant  

b. The price of India‟s loyalty is India‟s Freedom – C. Subramaniam 
c. The Ambassador of Hindu Muslim Unity was Jinnah 
d. “after ten years of painful Separation… Indian National Party have come 

to realize the fact that united they stand, but divided they fall, and 
brothers have at last met brothers…” Ambika Charan Mazumdar 

e. Answer not known 
jtwhd $w;iw fz;lwpf 
a. ,q;fpyhe;jpd; fbdkhd jUzk; ,e;jpahtpd; tha;g;Gf;fhd jUzk; - 

md;dpngrd;l; 
b. ,e;jpahtpd; tpRthrj;jpd; tpiy ,e;jpahtpd; tpLjiy – C. Rg;ukzpak; 
c. ,e;J K];yPk; xw;Wikapd; J}jh; - [pd;dh 
d. “gj;jhz;L fhy typ je;j gphpTf;Fg; gpwF xd;Wgl;lhy; cz;L tho;T> 

xw;Wik ePq;fg; gphpe;jhy; midtUf;Fk; jho;T vd;gij ,e;jpa Njrpa 
fhq;fpu]; czh;e;J> rNfhjuh;fs; jq;fSila rNfhjuh;fisf; filrpapy; 
re;jpj;Jtpl;ldh;” – mk;gpfh ruz; k[{k;jhh; 

e. tpil njhpatpy;iy 
 

100. Choose the correct statements 
1. Gandhi had been honoured with Kaiser – e – Hind gold medal for his 

humanitarian work in South Africa 
2. He had also received the Zulu war silver medal for his services as an 

officer of the Indian volunteer ambulance corps in 1906 
a. 1 only   b. 2 only   c. 1, 2   
d. none of these  e. Answer not known 
rhpahdtw;iw Njh;e;njL 
1. njd;dhg;gphpf;fhtpy; Mw;wpa kdpjhgpkhdg; gzpfSf;F fhe;jpabfSf;f 

nfa;rh;-,-`pe;j; jq;fg;gjf;fk; toq;fp rpwg;gpf;fg;gl;lJ. 
2. 1906,y; Mk;Gyd;]; gilapy; ,e;jpa Mh;tyh;fspy; xU mjpfhhpahfr; 

nray;gl;l mtuJ Nritfisg; ghuhl;b [{Y Nghh; nts;spg;gjf;fk; 
fhe;jpabfSf;F toq;fg;gl;lJ. 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1> 2   
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
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101. Arrange the following in chronological order 
1. Communal Award 
2. Introduction of Separate electorates 
3. Observation of „Day of Deliverance‟ 
a. 2 – 3 – 1  b. 2 – 1 – 3   c. 3 – 2 – 1   
d. 3 – 1 – 2  e. Answer not known 
fhythpirg;gLj;jp vOJf. 
1. tFg;Gthjj; jPh;T 
2. jdpj;njhFjpfs; mwpKfk; 
3. kPl;G ehshf filg;gpbj;jy; 
a. 2 – 3 – 1  b. 2 – 1 – 3   c. 3 – 2 – 1   
d. 3 – 1 – 2  e. tpil njhpatpy;iy 
 

102. Choose the correct statement regarding the 1937 elections 
I. The Muslim League performance was dismal and succeeded in 

winning only 4.8% of the Muslim votes 
II. The Muslim League won in five of the eleven provinces 

a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
1937 ,y; eilg;ngw;w Njh;jy; njhlh;ghd $w;Wfis fUj;jpy; nfhs;f.  

I. K];yPk; yPf;fpd; nray;ghL NkhrkhdjhfNt mike;jJ.  nkhj;j 
K];yPk; thf;Ffspy; 4.8 tpOf;fhL thf;Ffisg; ngWtjpy; kl;LNk 
mJ ntw;wpg;ngw;wJ. 

II. K];yPk; yPf; 11 khfhzq;fspy; 5 khfhzq;fspy; ntw;wp ngw;wJ. 
rhpahd $w;iw Njh;T nra;f. 
a. I kl;Lk;  b. II kl;Lk;   c.  I kw;Wk;  II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
103. Arrange the following in chronological order 

1. Quit India Movement 
2. Direct Action Day 
3. The Muslim League passed resolution demanding a separate Nation for 
Muslims in Lahore 
a. 3 – 2 – 1  b. 3 – 1 – 2   c. 1 – 3 – 2   
d. 2 – 3 – 1  e. Answer not known 
fhythpirg;gLj;jp vOJf. 
1. nts;isaNd ntspNaW ,af;fk; 
2. Neub eltbf;if ehs; 
3. yh$hpy; K];yPf; yPf; K];yPk;fSf;F jdpehL Ntz;Lnkd;w Nfhhpf;ifiaj; 
jPh;khdkhf epiwNtw;wpaJ.  
a. 3 – 2 – 1  b. 3 – 1 – 2   c. 1 – 3 – 2   
d. 2 – 3 – 1  e. tpil njhpatpy;iy 

 
104. Choose the correct statement regarding the Cabinet Mission Plan. 

I. Cripps was primarily responsible for drafting the Cabinet Mission 
Plan. 

II. The plan proposed a three tier federation for India. 
a. I only  b. II only   c. Both I and II   
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d. None  e. Answer not known 
mikr;ruit J}Jf;FOj; jpl;lk; njhlh;ghd $w;Wfspy; rhpahdtw;iw Njh;T 
nra;f. 

I. fphpg;]; mikr;ruitj; J}Jf;FOtpd; jpl;ltiuit jahhpg;gjpy; Kf;fpa 
gq;fhw;wpdhh;. 

II. ,j;jpl;lkhdJ> ,e;jpahtpw;F %d;wLf;F nfhz;l $l;lhl;rp Kiwia 
ghpe;Jiuj;jJ.  

a. I kl;Lk;   b. II kl;Lk;   c.  I kw;Wk; II ,uz;Lk;    
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
105. Which is the correct sequence of the following events?  

i. People‟s Republic of China  
ii. India‟s war with China  
iii. Meeting of the Constituent Assembly  
iv. Panch Sheel  
v. Nehru-Liaquat Ali Khan Pact  
a. i, ii, iii, iv, v  b. iii, i, v, iv, ii   c. iii, iv, i, v, ii   
d. i, iii, iv, v, ii e. Answer not known 
gpd;tUk; epfo;Tfspd; rhpahd thpiriaj; Njh;f 
i. rPdkf;fs; FbauR 
ii. rPdhTldhd ,e;jpag; Nghh; 
iii. murikg;G eph;zar; rigapd; $l;lk; 
iv. gQ;rrPyf; nfhs;if 
v. NeU-ypahfj; mypfhd; xg;ge;jk; 
a. i, ii, iii, iv, v  b. iii, i, v, iv, ii   c. iii, iv, i, v, ii   
d. i, iii, iv, v, ii e. tpil njhpatpy;iy 

 
106. Who sang the lines, “Ulladhu sidhaippon oor yenappadaa ar”? 

a. Devakulaththaar  b. Paalaipaadiya Perungkadungo 
c. Eraiyanaar   d. Naaraayanasamy Iyer 
e. Answer not known 
“cs;sJ rpijg;Nghh; Ch; vdg;glhmh;” 
vd;Dk; ghly; thpfisg;ghbath;  
a. NjtFyj;jhh;  b. ghiyghba ngUq;fLq;Nfh 
c. ,iwadhh;   d. ehuazrhkp Iah;  
e. tpil njhpatpy;iy 

 
107. Match the following 

A. Agananooru  1. Pooriko 
B. Kaliththogai  2. Uruththirasanmanaar 
C. Kurunthogai  3. Nallanthuvanaar 
D. Iynkurunooru  4. Puliththurai Muttriya Kadaloorkkizhaar 

A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
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e. Answer not known 
nghUj;Jf:  
A. mfehD}W   1. G+hpNfh  
B. fypj;njhif  2. cUj;jpurd;kdhh;  
C. FWe;njhif   3. ey;ye;Jtdhh;  
D. Iq;FWE}W  4. Gypj;Jiw Kw;wpa flY}h;f;fpohh; 
 A B C D 
a.  1 2 3 4 
b.  2 3 1 4  
c.  4 3 2 1    
d.  3 2 1 4 
e. tpil njhpatpy;iy 

 
108. Which book among Paththuppaattu book is also known as 

“Samudhaayappaattu”? 
a. Malaipadugadaam  b. Kurunjchippaattu 
c. Perumpaanaattruppadai  d. Porunaraattruppadai 
e. Answer not known 
“rKjhag;ghl;L” vd;Dk; ngauhy; mwpag;gLk; gj;Jg;ghl;L E}y; vJ?  
a. kiygLflhk;   b. FwpQ;rpg;ghl;L  
c. ngUk;ghzhw;Wg;gil  d. nghUeuhw;Wg;gil  
e. tpil njhpatpy;iy 

 
109. Which work is referred to as “Orunaal Nigalvu Maiya Ilakkiyam” (the 

occurance of one day as the central theme of literature)? 
a. Aganaanooru  b. Iynkurunooru  c. Maduraikkanchi  
d. Nedunelvaadai  e. Answer not known 
„xUehs; epfo;T ika ,yf;fpakhf‟ mwpag;gLk; E}y; vJ?  
a. mfehD}W   b. Iq;FWE}W 
c. kJiuf;fhQ;rp  d. neLney;thil 
e. tpil njhpatpy;iy 

 
110. Which work though a moral one talks a lot about worldly life? 

a. Moodhurai  b. Pattinappaalai   c. Kurunthogai 
d. Thirukkural  e. Answer not known 
mwE}yhf ,Ue;Jk; Gwr;nra;jpfis kpFjpahff; $Wk; E}y; vJ? 
a. %Jiu   b. gl;bdg;ghiy   c. FWe;njhif   
d. jpUf;Fws;   e. tpil njhpatpy;iy 

 
111. Padhinenkeezhkanakku has one Thogainool which is it? 

a. Naaladiyaar   b. Naanmanikkadigai  
c. Pazhamozhi Naanooru  d. Thirukkural 
e. Answer not known 
gjpnzd;fPo;f;fzf;fpy; cs;s xNu njhif E}y; vJ?  
a. ehybahh;    b. ehd;kzpf;fbif  
c. gonkhop ehD}W   d. jpUf;Fws;  
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e. tpil njhpatpy;iy 
 

112. Who is the author of the following verse? 
“Aatravum Katrar Arivudaiyar; Akthudaiyar 
 Natrisaiyum Sellatha Nadillai” 
a. Moonrurai Araiyanar  b. Kabilar 
c. Thiruvalluvar   d. Nallathanar 
e. Answer not known 
“Mw;wTk; fw;whh; mwpTilahh;; m/Jilahh;  
ehw;wpirAk; nry;yhj ehby;iy” vd;Dk; ghly;  
thpapd; Mrhpah; ahh;? 
a. %d;Wiw miuadhh;  b. fgpyh; 
c. jpUts;Sth;   d. ey;yhjdhh;  
e. tpil njhpatpy;iy 

 
113. Which book(work) is most similar to “Thirikadugam”? 

a. Moodhurai  b. Iniyavai narpathu c. Sirupanjamulam  
d. Elathi   e. Answer not known 
nghUsikg;gpy; jphpfLfj;ij xj;Js;s E}y; vJ?  
a. %Jiu   b. ,dpait ehw;gJ  c. rpWgQ;r%yk;  
d. Vyhjp    e. tpil njhpatpy;iy 
 

114. Which book(work) begins with the Vinayagar worship song “Vaakku 
undaam nalla manam undam”(Blessed with good words and alert mind) ? 
a. Moothurai  b. Kondraiventhan   c. Nalvali   
d. Elathi  e. Answer not known 
“thf;Fz;lhk; ey;y kdk; cz;lhk;?  
vd;W tpehafh; tho;j;Jld; njhlq;Fk; E}y;” 
a. %Jiu  b. nfhd;iwNte;jd;   c. ey;top   
d. Vyhjp   e. tpil njhpatpy;iy 

 
115. Who said “Ilamaiyai Kaattilum Noiatra Vazhvae Siranthathu”? 

a. Thiruvalluvar  b. Koodaloor Kizhar c. Pullangkadanar  
d. Kaariyasan  e. Answer not known 
,sikiaf; fhl;bYk; Nehaw;w tho;Nt rpwe;jJ vd;wth; ahh;? 
a. jpUts;Sth;  b. $lY}h; fpohh;  c. Gy;yq;fhldhh;  
d. fhhpahrd;   e. tpil njhpatpy;iy 
 

116. Trust where you have not tried, doubt of a friend to feel, 
Once trusted, wounds inflict that nought can heal. 
Find out the chapter of the following Kural? 
a. Dread of evil beeds  b. Selection and Confident 
c. Purity in action   d. The possession of forbearance 
e. Answer not known 
Njuhd; njspTk; njspe;jhd;fz; IAwTk; 
jPuh ,Lk;ig jUk; - ,f;Fwl;gh ve;j mjpfhuj;jpy; cs;sJ 
a. jPtpid mr;rk;   b. njupe;J njspjy; 
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c. tpidj;J}a;ik   d. nghiwAilik 
 e. tpil njhpatpy;iy 
117. Which Kural is unrelated to the chapter Manly Effort 

a. 'Tis duty of the man in place aloud to say  
The very truth, though unwise king may cast his words away. 

b. In sluggishness is seen misfortune's lurid form, the wise declare; 
Where man unslothful toils, she of the lotus flower is there!. 

c. In action be thou, 'ware of act's defeat;  
The world leaves those who work leave incomplete!. 

d. Say not, 'Tis hard', in weak, desponding hour,  
For strenuous effort gives prevailing power. 

e. Answer not known 
Ms;tpid cilik vd;Dk; mjpfhuj;NjhL 
njhlu;gpy;yhj Fws; 

a. mwpnfhd;W mwpahd; vdpDk; cWjp 
cio,Ue;jhd; $wy; fld;  

b. kbcshd; khKfb vdg; kb,yhd; 
fhs;cshs; jhkiuap dhd; 

c. tpidf;fz; tpidnfly; Xk;gy; tpidf;Fiw 
jPu;e;jhupd; jPu;e;jd;W cyF  

d. mUik cilj;Jvd;W mrhthik Ntz;Lk; 
ngUik Kaw;rp jUk;  

e. tpil njhpatpy;iy 
 

118. Which one of the following couplet is an example for SWOT analysis? 
a. The force the strife demands, the force he owns, the force of foes, 

The force of friends; these should he weigh ere to the war he goes. 
b. Who know what can be wrought, with knowledge of the means, on 

this, 
Their mind firm set, go forth, nought goes with them amiss 

c. Ill-deeming of their proper powers, have many monarchs striven, 
And midmost of unequal conflict fallen asunder river 

d. Who not agrees with those around, no moderation knows, 
In self-applause indulging, swift to ruin goes. 

e. Answer not known 
gpd;tUk; Fwl;ghtpy; SWOT analysis f;F cjhuzkhf mike;Js;s Fwl;gh 
vJ? 
a. tpidtypAk; jd;typAk; khw;whd; typAk; 

JiztypAk; J}f;fpr; nray; 
b. Xy;t jwptJ mwpe;jjd; fz;jq;fpr; 

nry;thh;f;Fr; nry;yhjJ ,y; 
c. cilj;jk; typawpahh; Cf;fj;jpd; Cf;fp 

,ilf;fz; Khpe;jhh; gyh; 
d. mike;jhq; nfhOfhd; mstwpahd; jd;id 

tpae;jhd; tpiue;J nfLk; 
e. tpil njhpatpy;iy 
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119. Match the following 
Chapter No.   Chapter Name 
A. 49    1. Hopefulness in Trouble  
B. 52    2. Unsluggishness  
C. 61    3. Selection and Employment  
D. 63    4. Knowing the fitting Time  
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 3 4 1 2 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf 
mjpfhuk; vz;  mjpfhuk; ngah; 
A. 49    1. ,Lf;fzopahik 
B. 52    2. kbapd;ik 
C. 61    3. njhpe;Jtpidahly; 
D. 63    4. fhykwpjy; 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 3 4 1 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
  

120. To risk one's all and lose, aiming at added gain, 
Is rash affair, from which the wise abstain. 
Find out the meaning of the couplet? 
a. The Wise men will not, in the hopes of profit, undertake works that will 

consume their principal. 
b. Let a man reflect on what will be lost, what will be acquired and (from 

these) what will be his ultimate gain, and (then, let him) act. 
c. There is nothing too difficult to (be attained by) those who, before they act, 

reflect well themselves, and thoroughly consider (the matter) with chosen 
friends. 

d. Those who fear reproach will not commence anything which has not been 
(thoroughly considered) and made clear to them. 

e. Answer not known 
Mf;fk; fUjp Kjy;,of;Fk; nra;tpid 
Cf;fhh; mwpTil ahh; 
Nkw;fhZk; Fwspd; nghUs; ahJ? 
a. tuit vz;zp %yg;nghUis ,of;Fk; nraiy nra;a J}z;l khl;lhh; 

mwpTilath;. 
b. xU nraiyr; nra;Ak;NghJ tUk; el;lj;ijak;> gpd; tpisitAk; ghh;j;J> 

mjw;Fg;gpd; tUk; yhgj;ijak; fzf;fpl;Lr; nra;f 
c. jhk; Njh;e;Jnfhz;L epUthfr; Rw;wj;NjhL xU nraiy Muha;e;J 

jpl;lkpl;Lr; nra;gth;f;Fr; nra;a Kbahj nray; vd;W vJTk; ,y;iy 
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d. jdf;F mtkhdk; vd;Dk; Fw;wk; tUk; vd;W gag;gLgth;> ek;gpf;if 
,y;yhj nraiyr; nra;aj; njhlq;fkhl;lhh; 

e. tpil njhpatpy;iy 
 

121. Avvaiyar in her „Athichoodi‟ says don‟t give up your mind to act and achieve. 
Choose the Thirukural connected with this thoughtful line. 
a. Though food of immortality should crown the board, 

Feasting alone, the guests without unfed, is thing abhorred 
 

b. The wealth of mind man owns a real worth imparts, 
Material wealth man owns endures not, utterly departs. 

 
c. If speak you will, speak words that fruit afford, 

If speak you will, speak never fruitless word. 
 

d. With rising flood the rising lotus flower its stem unwinds; 
The dignity of men is measured by their minds. 

e. Answer not known 
“Cf;fkJ iftpNly;” vd;gJ xsitahhpd; Mj;jp#b. ,t;thpNahL 
njhlh;Gila jpUf;Fwisj; Njh;e;njLf;f 
 
a. tpUe;J Gwj;jjhj; jhZz;ly; rhth 

kUe;njdpDk; Ntz;lhw;ghw; md;W 
 

b. cs;sk; cilik cilik nghUSlik 
epy;yhJ ePq;fp tpLk; 
 

c. nrhy;Yf nrhy;ypy; gaDila nrhy;yw;f 
nrhy;ypy; gad;,yhr; nrhy; 
 

d. nts;sj;J mida kyh;ePl;lk; khe;jh;f;F 
cs;sj;J midaJ cah;T 

e. tpil njhpatpy;iy 
 

122. Delay, oblivion, sloth, and sleep: these four 
Are pleasure-boat to bear the doomed to ruin's shore. 
Find out the meaning of the word Delay 
a. Procrastination  b. Laziness 
c. Lack of effort  d. anger 
e. Answer not known 
neLePh; kwtp kbjapy; ehd;Fk; 
nfLePuhh; fhkf; fyd; 
Nkw;fhZk; Fwspy; neLePh; vd;gjd; nghUs; ahJ? 
a. fhyk; ePl;bj;jy;  b. Nrhk;gy; 
c. Kaw;rp ,d;ik  d. Nfhgk; 
e. tpil njhpatpy;iy 
 

  



 

47 | Page     APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

123. Find out the chapter of the following couplet 
Who strive with undismayed, unfaltering mind, 
At length shall leave opposing fate behind. 
a. The knowledge of power b. Hopefulness in trouble 
c. Selection of Confidence  d. Manly effort 
e. Answer not known 
CioAk; cg;gf;fk; fhz;gh; ciytpd;wpj; 
jhohJ cQw;W gth; 
Nkw;fhZk; Fws; ve;j mjpfhuj;ij Nrh;e;jJ? 
a. typawpjy;    b. ,Lf;fzopahik 
c. njhpe;J njspjy;   d. Ms;tpidAilik  
e. tpil njhpatpy;iy 
 

124. Who trusts an untried stranger, brings disgrace, 
_______, on all his race. 
Fill in the blank 
a. Unhearing   b. Remediless  c. Uncoming  
d. Unflinching  e. Answer not known 
Njuhd; gpwidj; njspe;jhd; topKiw 
_______ ,Lk;ig jUk; 
Nfhbl;l ,lj;ij epug;Gf 
a. Nfsh   b. jPuh    c. thuh   
d. Mwh   e. tpil njhpatpy;iy 
 

125. Incomings may be ________; but yet, no failure there, 
If in expenditure you rightly learn to _______. 
a. scant, spare   b. None of these 
c. means, leans   d. no bound, be found 
e. Answer not known 
_______ mstpl;b jhapDq; Nfby;iy 
_______ mfyhf; fil 
Nfhbl;l ,lj;ij epug;G 
a. MfhW> NghfhW   b. ,it VJkpy;iy 
c. cstiu> tstiu  d. mstwpe;J> ,y;yhfp 
e. tpil njhpatpy;iy 
 

126. Who was the first editor of Justice magazine? 
a. P. Thiyagarayar  b. Natesanar   c. T.M. Nair   
d. C. Sankar Nair  e. Answer not known 
ePjp ,jopd; Kjy; Mrphpah; ahh;? 
a. P. jpahfuhah;  b. eNlrdhh;   c. T.M. ehah;   

d. C. rq;fh; ehah;  e. tpil njhpatpy;iy 
 

127. When was the word Dravidian was used for political entity for first time? 
a. 1909  b. 1912   c. 1914   
d. 1916  e. Answer not known 
jpuhtplk; vd;w nrhy; Kjd;Kiwahf murpay; mikg;gpy; vg;nghOJ 
gad;gLj;jg;gl;lJ? 
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a. 1909   b. 1912  c. 1914  d. 1916 
e. tpil njhpatpy;iy 
 

128. The book/books published by Madras Dravidian Association is/are _____. 
a. Dravidian worthies  b. Dravidian Non-Brahmin letters 
c. Both (a) and (b)   d. Neither (a) nor (b) 
e. Answer not known 
nkl;uh]; jpuhtpl fofj;jhy; ntspaplg;gl;l Gj;jfk;/Gj;jfq;fs; ____ MFk;. 
a. jpuhtpl jFjpahdth;fs;  b. jpuhtpl gpuhkzh; my;yhj vOj;Jf;fs; 
c.  a & b ,uz;Lk;   d. ,uz;Lk; ,y;iy 
e. tpil njhpatpy;iy 
 

129. Which of the following organization was established to publish newspapers 
and magazines? 
a. South Indian Liberal Federation b. South Indian People Association 
c. Both (a) and (b)    d. Neither (a) nor (b) 
e. Answer not known 
gpd;tUtdtw;Ws; vJ nra;jpj;jhs;fs; kw;Wk; gj;jphpiffis ntspapl 
epWtg;gl;lJ? 
a. njd;dpe;jpa jhuhs $l;likg;G  b. njd;dpe;jpa kf;fs; rq;fk; 
c. a & b ,uz;Lk;    d.  ,uz;Lk; ,y;iy 

 e. tpil njhpatpy;iy 
 

130. Consider the following statements 
I. Madras United League was formed in 1912. 
II. Madras United League was renamed as Madras Dravidian Association in 

1914. 
III. Natesanar established Dravidian Homes in Mylapore in 1914. 
a. I alone is correct   b. I, II are correct 
c. I, III are correct   d. III alone is correct 
e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 

I. nkl;uh]; Aidnll; yPf; 1912-y; cUthf;fg;gl;lJ. 
II. nkl;uh]; Aidnll; yPf; 1914-y; nkl;uh]; jpuhtpl rq;fk; vd 

kWngahplg;gl;lJ 
III. eNlrdhh; 1914-y; kapyhg;G+hpy; jpuhtpl ,y;yq;fis epWtpdhh;. 
a. I kl;Lk; rhp   b. I, II rhp   c. I, III rhp   
d. III kl;Lk; rhp  e. tpil njhpatpy;iy 

 
131. Consider the following statements. 

I. Justice party won 63 seats in 1920 provincial election. 
II. P. Thiyagarayar become first chief minister of Madras Province. 
III. K.V. Reddy and Raja of Panagal were part of justice party‟s first Cabinet. 
a. I alone is correct  b. I, II are correct 
c. I, III are correct  d. All are correct 
e. Answer not known 
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gpd;tUtdtw;iw ftdpf;fTk;. 
I. 1920-y; eilngw;w khfhz Njh;jypy; ePjpf;fl;rp 63 ,lq;fisg; ngw;wJ. 
II. nrd;id khfhzj;jpd; Kjy; Kjyikr;ruhf gp.jpahfuhah; gjtpNaw;whh;. 
III. Nf.tp. nul;b kw;Wk; gdfy; murh; MfpNahh; ePjpf;fl;rpapd; Kjy; 

mikr;ruitapy; mq;fk; tfpj;jdh;. 
a. I kl;Lk; rhp   b. I, II rhp   c. I, III rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
132. Assertion : Justice Party did not supported Home Rule Movement. 

Reason     : Home Rule Movement was started in 1916. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A): ePjpf;fl;rp jd;dhl;rp ,af;fj;ij Mjhpf;ftpy;iy. 
fhuzk; (R): jd;dhl;rp ,af;fk; 1916-y; njhlq;fg;gl;lJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 

b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
133. Arrange is chronological order. 

1. P. Subbarayan 2. K.V. Reddy Naidu 3. Ramakrishna Ranga Rao 
4. Raja of Panagal 5. P.T. Rajan 
a. 4, 3, 1, 5, 2  b. 3, 4, 1, 2, 5   c. 4, 1, 3, 5, 2  
d. 4, 1, 3, 2, 5  e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;jTk;. 
1. P. Rg;guhad; 2. K.V. nul;b ehAL  3. ,uhkfpU~;z uq;fhuht; 
4. gdq;fy; murh;.  5. P.T. uh[d;   
a. 4, 3, 1, 5, 2  b. 3, 4, 1, 2, 5   c. 4, 1, 3, 5, 2  
d. 4, 1, 3, 2, 5  e. tpil njhpatpy;iy 

 
134. Consider the following statements. 

I. The first meeting of Justice Party Cabinet held on January 9, 1921. 
II. Madras Legislature was inaugurated on January 12, 1921 by Duke of 

cannought. 
III. The term of first Madras legislature was 5 years. 
a. II alone is correct   b. I, II are correct 
c. II, III are correct   d. All are correct 
e. Answer not known 
gpd;tUtdtw;iw ftdpf;fTk;. 
I. ePjpf;fl;rpapd; Kjy; mikr;ruitf; $l;lk; [dthp 9> 1921 md;W 

eilngw;wJ. 
II. nkl;uh]; rl;lkd;wk; [dthp 12> 1921 md;W fd;Ndhl; Nfhkfdhy; 

jpwf;fg;gl;lJ. 
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III. Kjy; nrd;id rl;lkd;wj;jpd; gjtpfhyk; 5 Mz;Lfs;. 
a. II kl;Lk; rhp  b. I, II rhp   c. II, III rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
135. Assertion : Periyar was inducted into Congress by Rajaji in 1920. 

Reason     : Tamil Nadu Congress was dominated by Brahmins. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A): nghpahh; 1920-y; ,uh[h[pahy; fhq;fpu]py; Nrh;f;fg;gl;lhh;. 
fhuzk; (R): jkpo;ehl;by; cs;s fhq;fpu]py; gpuhkzh;fspd; Mjpf;fk; 
,Ue;jJ. 

a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 

136. Assertion : Periyar started Kudiyarasu magazine in 1925. 
Reason  : Kudiyarasu was the official newspaper of Self Respect                    
Movement. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A): nghpahh; 1925-y; FbauR ,jioj; njhlq;fpdhh;. 
fhuzk; (R): FbauR ,johdJ Rakhpahij ,af;fj;jpd; mjpfhug;G+h;t 
nra;jpj;jhs;   
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 

137. Choose incorrect pair regarding Tamil Nadu Congress Committee President. 
a. 1922 – Tiruppur – Periyar 
b. 1924 – Thiruvannamalai – Rajaji 
c. 1925 – Kanchipuram – Thiru. Vi. Ka 
d. None of the above 
e. Answer not known 
jkpo;ehL fhq;fpu]; fkpl;b jiytu; njhlh;ghd jtwhd ,iziaj; Njh;T 
nra;aTk;. 
a. 1922 - jpUg;G+h; - nghpahh;  b. 1924 – jpUtz;zhkiy - ,uh[h[p 
c. 1925 – fhQ;rpGuk; - jpU.tp.f d. Nkw;$wpatw;wpy; vJTkpy;iy 
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e. tpil njhpatpy;iy 
138. Chengelpet Self respect conference was inaugurated by _______. 

a. WPA. Soundara Pandyan b. P. Subbarayan 
c. S. Ramanathan   d. E.V. Ramasamy 
e. Answer not known 
nrq;fy;gl;by; Rakhpahij khehl;ilj; njhlq;fp itj;jth; ahh;? 
a. WPA nrse;ju ghz;bad;  b. P.Rg;guhad; 
c. S.  uhkehjd;   d. <.nt.uhkrhkp 

 e. tpil njhpatpy;iy 
 

139. Assertion : Periyar introduced Erode Plan in 1932. 
Reason     : Periyar toured Europe including Russia with S. Ramanathan in 
1931 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A): nghpahh;> <NuhL jpl;lj;ij 1932-y; njhlq;fpdhh;. 
fhuzk; (R): nghpahh; S. ,uhkehjDld; 1931,y; ,u~;ah cl;gl INuhg;gpa 
gazj;ij Nkw;nfhz;lhh; 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
140. Arrange in chronological order. 

1. Trichy Tamil Conference. 
2. Kanchipuram Anti Hindi Conference. 
3. Dravida Nadu Demand 
4. Black Shirt Conference 
5. Vidhuthalai Magazine 
a. 2, 1, 3, 4, 5 b. 5, 2, 1, 3, 4    c. 5, 1, 2, 3, 4  
d. 1, 5, 2, 3, 4 e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;Jf. 
1. jpUr;rp jkpo; khehL 
2. fhQ;rpGuk; ,e;jp vjph;g;G khehL 
3. jpuhtpl ehL Nfhhpf;if 
4. fUQ;rl;il khehL 
5. tpLjiy gj;jphpf;if 

a. 2, 1, 3, 4, 5  b. 5, 2, 1, 3, 4    c. 5, 1, 2, 3, 4   
d. 1, 5, 2, 3, 4  e. tpil njhpatpy;iy 

 

141. Anna Resolution is related with 
a. Name changing of Dravidar Kazhagam into DMK. 
b. Name changing of Justice Party into Dravidar Kazhagam. 
c. DMK decided to contest 1957 election. 
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d. Triangular fight. 
e. Answer not known 
mz;zh jPh;khdj;Jld; njhlh;GilaJ. 
a. jpuhtplf; fofk; jpKf vd ngah; khw;wk;. 
b. ePjpf;fl;rpapd; ngah; jpuhtplh; fofk; vd khw;wg;gl;lJ. 
c. 1957 Njh;jypy; jp.K.f. Nghl;bapl KbT nra;ag;gl;lJ. 
d. Kk;Kid Nghuhl;lk; 
e. tpil njhpatpy;iy 

 

142. Assertion : Self respect marriages were legalized in 1967-68. 
Reason : Resolution demanding self respect marriage was passed in Third Self 
Respect Conference. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true 
e. Answer not known 
$w;W (A): Rakhpahijj; jpUkzq;fs; 1967-68-y; rl;lg;G+h;tkhf;fg;gl;ld. 
fhuzk; (R): %d;whtJ Rakhpahij khehl;by; Rakhpahij jpUkzk; Nfhhp 
jPh;khdk; epiwNtw;wg;gl;lJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 

143. Find odd one out 
a. Dravida nadu  b. Home land  c. Home Rule   
d. Malaimani   e. Answer not known 
nghUj;jkw;wij Njh;T nra;f. 
a. jpuhtpl ehL  b. N`hk;Nyz;l;  c. N`hk;&y;   

d. khiykzp   e. tpil njhpatpy;iy 
 

144. Assertion : Tamil Nadu Government recently announced to celebrate July 18, 
as Tamil Nadu Day.               
Reason     : Anna brought the name changing resolution in Assembly on  
                    July 18, 1968. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W (A): [_iy 18-k; Njjpia jkpo;ehL jpdkhf nfhz;lhl jkpof muR 
rkPgj;jpy; mwptpj;jJ. 
fhuzk; (R): [_iy 18> 1968 md;W Nguitapy; ngah; khw;wj; jPh;khdj;ij 
mz;zh nfhz;L te;jhh;. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
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d. A jtW R rhp 
e. tpil njhpatpy;iy 

145. C.N. Annadurai announced Triangular fight in ______. 
a. 1952  b. 1953   c. 1954   
d. 1955  e. Answer not known 
rp.vd;. mz;zhJiu ____ y; Kk;Kid Nghuhl;lj;ij mwptpj;jhh;. 
a. 1952  b. 1953   c. 1954   
d. 1955  e. tpil njhpatpy;iy 

 
146. Consider the following statements related to AIDS. 

1. Tamil Nadu state AIDS control society was established in 1992. 
2. In 1986 the first HIV case was detected in Madras Medical College, 

Chennai.  
3. HIV and AIDS Act was enacted in 2017. 
a. 1, 2 are correct   b. 2, 3 are correct 
c. 3 alone is correct   d. All are correct 
e. Answer not known 
va;l;]; njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. jkpo;ehL khepy va;l;]; fl;Lg;ghl;L rq;fk; 1992-y; epWtg;gl;lJ. 
2. 1986-k; Mz;L nrd;idapYs;s nkl;uh]; kUj;Jtf; fy;Y}hpapy; Kjy; 

vr;.I.tp njhw;Ws;s egh; fz;lwpag;gl;lhh; 
3. vr;.I.tp kw;Wk; va;l;]; rl;lk; 2017y; ,aw;wg;gl;lJ. 

a. 1> 2 rupahdit   b. 2> 3 rupahdit 
c. 3 kl;Lk; rupahdit  d. midj;Jk; rup 
e. tpil njhpatpy;iy 

 
147. Consider the following statements 

1. The International Conference on Population and Development (ICPD)  
     held in Cairo in 1994. 
2. ICPD recommended RCH project in India. 
3. Asian Development Bank is funding agency for RCH projects in Tamil  
     Nadu. 
a. 1, 2 are correct  b. 2, 3 are correct  c. 2 alone is correct 
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. kf;fs; njhif kw;Wk; Nkk;ghl;bw;fhd rh;tNjr khehL (ICPD) -1994y; 

nfha;Nuhtpy; eilngw;wJ. 
2. ,e;jpahtpy; RCH jpl;lj;ij ICPD ghpe;Jiuj;jJ. 
3. Mrpa tsh;r;rp tq;fp jkpo;ehl;by; cs;s RCH jpl;lq;fSf;F epjpaspf;Fk; 

epWtdkhFk;. 
a. 1> 2 rhp  b. 2> 3 rhp   c. 2 kl;Lk; rhp   

d. midj;Jk; rhp e. tpil njhpatpy;iy 
 

148. DANIDA is funding ______ projects in Tamil Nadu. 
a. Infrastructure  b. Health care  c. Wind energy  
d. Solar energy  e. Answer not known 
DANIDA jkpo;ehl;by; _________ jpl;lq;fSf;F epjpaspf;fpwJ. 
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a. cs;fl;likg;G  b. Rfhjhu guhkhpg;G  c. fhw;whw;wy;   
d. #hpa Mw;wy;  e. tpil njhpatpy;iy 

 
 

149. Consider the following statements 
1. Tamil Nadu Health systems project was started in 2006. 
2. TNHSP is assisted by JICA. 
3. TNHSP focused on reducing child mortality and improving maternal  
    Health. 
a. 1, 2 are incorrect   b. 2, 3 are correct 
c. All are correct   d. All are incorrect 
e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. jkpo;ehL Rfhjhu mikg;G jpl;lk; 2006-y; njhlq;fg;gl;lJ. 
2. TNHSP-f;F JICA cjtp nra;fpwJ. 
3. TNHSP Foe;ij ,wg;igf; Fiwg;gjpYk; jha;top MNuhfpaj;ij 

Nkk;gLj;JtjpYk; ftdk; nrYj;JfpwJ. 
a. 1> 2 jtW    b. 2> 3 rhp   
c. midj;Jk; rhp   d. midj;Jk; jtW 
e. tpil njhpatpy;iy 

 
150. Emergency Ambulance service 102 is related to ______. 

a. Child harassment victim helpline  
b. Transgender harassment victim helpline 
c. JSSK Drop back service helpline  
d. Sexual harassment victim helpline 
e. Answer not known 
mtrufhy MkGyd;]; Nrit 102 _______ cld; njhlh;GilaJ. 
a. Jd;GWj;jyhy; ghjpf;fg;gl;l Foe;ijfSf;fhd kUj;Jt Nrit cjtp vz; 
b. Jd;GWj;jyhy; ghjpf;fg;gl;l jpUeq;iffSf;fhd kUj;Jt Nrit cjtp 

vz; 
c. JSSK kUj;Jt thfd Nrit cjtp vz; 
d. ghypay; Jd;GWj;jYf;F MshNdhh; cjtp vz; 
e. tpil njhpatpy;iy 

 
151. Consider the following statements regarding TAHDCO. 

1. TAHDCO was established in 1976. 
2. TAHDCO works for economic development of only SC people. 
3. TAHDCO provides skill training to SC and ST. 
4. TAHDCO undertakes construction activities also. 
a. 2, 3, 4 are correct  b. 1, 2 are incorrect  c. 1, 3 are incorrect  
d. All are correct  e. Answer not known 
TAHDCO njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. TAHDCO – 1976y; epWtg;gl;lJ. 
2. TAHDCO – nghUshjhu Nkk;ghl;bw;fhf gl;bay; ,d kf;fSf;fhf 

kl;LNk nray;gLfpwJ 
3. TAHDCO – SC kw;Wk; ST kf;fSf;F jpwd; gapw;rp mspf;fpwJ. 
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4. TAHDCO fl;Lkhd eltbf;iffisAk; Nkw;nfhs;fpwJ. 
a. 2, 3, 4 rhp   b. 1, 2 jtW   c. 1, 3 jtW   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
152. Consider the following statements regarding to recent NITI AYOG‟s MDPI 

report. 
1. Tamil Nadu stands first in eradicating poverty among bigger states. 
2. Ariyalur district in Tamil Nadu is the poorest district. 
a. 1 alone is correct  b. 2 alone is correct  c. Both are correct  
d. Both are wrong  e. Answer not known 
rkPgj;jpy; NITI AYOG-d; MDPI njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. nghpa khepyq;fspy; tWikia xopg;gjpy; jkpo;ehL Kjyplj;jpy; cs;sJ. 
2. jkpo;ehl;by; mhpaY}h; khtl;lk; Vo;ikahd khtl;lk;. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

153. Karpom, ezhuthuvom is a nonformal adult literacy program implemented by 
______ in Tamil Nadu. 
a. NGO alone.    b. School education department. 
c. Higher education department.  d. None of these. 
e. Answer not known 
fw;Nghk;> vOJNthk; vd;fpw Kiwrhuh taJ te;NjhUf;fhd fy;tpawpTj; 
jpl;lk; jkpo;ehl;by; _______ %yk; nray;gLj;jg;gLfpwJ. 
a. jd;dhh;t njhz;L epWtdq;fs;  b. gs;spf; fy;tpj;Jiw 
c. cah; fy;tpj;Jiw   d. ,tw;wpy; vJTkpy;iy 
e. tpil njhpatpy;iy 

 

154. Consider the following  
Assertion : Tamil Nadu Government announced to create a welfare board  

                     for widows and destitute women. 
Reason     : It is estimated that senior citizen population of Tamil Nadu will  

                    be 1.5 crore by 2030. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W  : tpjitfs; kw;Wk; Mjutw;w ngz;fSf;fhd ey thhpak;  
        mikf;fg;gLk; vd jkpof muR mwptpj;Js;sJ. 
fhuzk; : 2030 -f;Fs; jkpo;ehl;bd; %j;j Fbkf;fspd; vz;zpf;if 1.5  
        Nfhbahf ,Uf;Fk; vd;W kjpg;gplg;gl;Ls;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 

tpsf;fky;y. 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 
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155. Consider the following 
Assertion : Tamil Nadu Government increased the age of beneficiary of  

                    parents from 35 to 40 under CM Girl child protection scheme. 
Reason     : The education status of girls improved and age of marriage of  

                     girls also increased in Tamil Nadu. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W  : jkpof muR Kjy;thpd; ngz; Foe;ijfs; ghJfhg;Gj; jpl;lj;jpd; fPo;  

ngw;Nwhhpd; gadhspfspd; taij 35ypUe;J 40 Mf cah;j;jpAs;sJ. 
fhuzk; : jkpofj;jpd; ngz;fspd; fy;tp epiy Kd;NdwpAs;sJ kw;Wk;  

    ngz;fspd; jpUkz taJk; mjpfhpj;Js;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 

tpsf;fky;y. 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 
156. Consider the following 

Assertion : September 17, is celebrated as Social Justice Day in Tamil Nadu. 
Reason     : First communal G.O. was passed in September 17, 1921 under  

                     Justice party rule. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W  : nrg;lk;gh; 17> jkpofj;jpy; r%f ePjp jpdkhf nfhz;lhlg;gLfpwJ. 
fhuzk; : Kjy; tFg;Gthj murhiz nrg;lk;gh; 17> 1921-y; ePjpf;fl;rpapd;  
        Ml;rpapd; fPo; ntspaplg;gl;lJ 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 

tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 

tpsf;fky;y. 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 
 

157. Consider the following 
Assertion : People School scheme was introduced on October 18, 2021 in  

                    Tamil Nadu. 
Reason      : To reduce the learning gap of students from 1 to 8 standard in  

                     Government schools. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
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b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
e. Answer not known 
$w;W  : kf;fs; gs;spj; jpl;lk; mf;Nlhgh; 18> 2021 – md;W jkpo;ehl;by;  
        mwpKfg;gLj;jg;gl;lJ.  
fhuzk; : ,j;jpl;lk; muRg; gs;spfspy; 1-k; tFg;G – 8-k; tFg;G tiuapyhd  

khzth;fspd; fw;wy; ,ilntspiaf; Fiwg;gjw;fhf 
mwpKfg;gLj;jg;gl;lJ 

a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd 
tpsf;fkhFk;. 

b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd 
tpsf;fky;y. 

c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 
 

158. Which institution provided ₹  2600 crore loan for Chennai metro (Phase II)? 
a. Asian Development Bank 
b. Asian Infrastructure Investment Bank 
c. World Bank 
d. Japan International Cooperation Agency 
e. Answer not known 
nrd;id nkl;NuhTf;F (fl;lk; II) ₹  2600 Nfhb flid toq;fpa epWtdk; vJ? 
a. Mrpa tsh;r;rp tq;fp   b. Mrpa cs;fl;likg;G KjyPl;L tq;fp 
c. cyf tq;fp   d. [g;ghd; rh;tNjr xj;Jiog;G epWtdk; 
e. tpil njhpatpy;iy 
 

159. Consider the following statements regarding Muthulakshmi Maternity 
Benefit Scheme? 
1. Scheme was launched in 1987. 
2. Initially ₹  300 provided under this scheme which is now increased to 

₹18,000. 
3. 104 – helpline for delay in payment related issues. 
a. 1, 2 are correct  b. 2, 3 are correct  c. 1, 3 are correct  
d. All are correct   e. Answer not known 
Kj;Jy~;kp kfg;NgW epjpcjtp jpl;lk; njhlh;ghd gpd;tUk; $w;Wfis 
ftdpf;fTk;. 
1. 1987-y; ,e;j jpl;lk; njhlq;fg;gl;lJ. 
2. ,j;jpl;lj;jpd; fPo; Muk;gj;jpy; ₹  300  toq;fg;gl;L jw;NghJ ₹18,000 Mf 

cah;j;jg;gl;Ls;sJ. 
3. gzk; nrYj;Jjy; njhlh;ghd rpf;fy;fspy; jhkjk; Vw;gLtij 

njhptpg;gjw;fhd cjtp vz; 104.  
a. 1, 2 rhp   b. 2, 3 rhp   c. 1, 3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
160. Tamil Nadu Government issued G.O to create ______ new Arts and Science 

Colleges for Academic year 2022-23. 
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a. 8  b. 10   c. 12   d. 14  e. Answer not known 
jkpo;ehL muR 2022-23 fy;tpahz;by; ________ Gjpa fiy kw;Wk; mwptpay; 
fy;Y}hpfis cUthf;f murhizia ntspapl;lJ. 
a. 8  b. 10   c. 12   d. 14  e. tpil njhpatpy;iy 

 
161. Tamil Nadu Government State Literacy Award was awarded to ______ 

Learning Centres in Tamil Nadu. 
a. 111   b. 112    c. 113    
d. 114   e. Answer not known 
jkpo;ehL murpd; khepy vOj;jwpT tpUJ jkpo;ehl;by; cs;s ________ fw;wy; 
ikaq;fSf;F toq;fg;gl;lJ. 
a. 111   b. 112    c. 113    
d. 114   e. tpil njhpatpy;iy 
 

162. Consider the following statements. 
1. Social Justice Committee in TN is headed by Suba Veerapandian. 
2. The Committee comprises of 6 members including Chairman. 
3. The Committee will monitor if social justice is being implemented 

properly in education, employment, postings, promotion and 
appointments. 

a. 1, 2 are correct  b. 1, 3 are correct  c. 1 alone is correct  
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. jkpofj;jpy; r%f ePjpf;FO R.g. tPughz;bad; jiyikapy; 

mikf;fg;gl;Ls;sJ. 
2. FOtpy;> jiyth; cl;gl 6 cWg;gpdh;fs; cs;sdh;. 
3. fy;tp> Ntiytha;g;G> gjtp cah;T> epakdq;fs; Nghd;wtw;wpy; r%fePjp 

Kiwahf nray;gLfpwjh vd;gij ,e;jf; FO fz;fhzpf;Fk;.  
a. 1, 2 rhp   b. 1, 3 rhp   c. 1 kl;Lk; rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
163. Choose incorrect pair. 

a. Mental Health Act – 1987. 
b. National Policy for Persons with Disabilities – 2005. 
c. Rights of Person with Disabilities Act – 2016. 
d. Protection of Civil Rights Act – 1955 
e. Answer not known 
jtwhd ,iziaj; Njh;T nra;aTk;. 
a. kdeyr; rl;lk; - 1987. 
b. khw;Wj; jpwdhspfSf;fhd Njrpa nfhs;if – 2005 
c. khw;Wj;jpwdhspfSf;fhd chpikfs; rl;lk; - 2016. 
d. rptpy; chpikfs; ghJfhg;Gr; rl;lk; - 1955 
e. tpil njhpatpy;iy 
 

164. Consider the following statements regarding to Tamil Nadu Backward 
Classes Commission. 
1. Established in 1993 as permanent body based on Article 340. 
2. Tenure of Members and Chairman is 3 years. 
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3. K. Shanmugam is the first Chairman – 15.3.1993. 
a. 2 alone is correct  b. 1, 2 are correct  c. 1, 3 are correct  
d. All are correct  e. Answer not known 
jkpo;ehL gpw;gLj;jg;gl;Nlhh; Mizak; njhlh;ghd gpd;tUk; $w;Wfis 
ftdpf;fTk;. 
1. rl;lg;gphpT 340-d; gb> ,J epue;ju mikg;ghf 1993-y; epWtg;gl;lJ. 
2. ,jd; cWg;gpdh;fs; kw;Wk; jiythpd; gjtpf;fhyk; 3 Mz;Lfs;. 
3. 15.03.1993-y; Nf. rz;Kfk; ,jd; Kjy; jiytuthh; 
a. 2 kl;Lk; rhp   b. 1, 2 rhp   c. 1, 3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
 
 

165. Consider the following statements. 
1. There are 36 tribal communities in Tamil Nadu. 
2. 6 tribal communities in Tamil Nadu have been identified as PVTGs. 

a. 1 alone is correct   b. 2 alone is correct 
c. Both are correct   d. Both are wrong 
e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. jkpo;ehl;by; 36 goq;Fbapd r%fq;fs; cs;sd. 
2. jkpo;ehl;by; cs;s 6 goq;Fbapd r%fq;fs; PVTG -fshf milahsk; 

fhzg;gl;Ls;sd. 
a. 1 kl;Lk; rhp    b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp    d. ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 
166. Consider the following statements 

1. Tamilnadu is the only state in India that has established a department 
exclusively for welfare of Differently abled persons 

2. December 3 is celebrated as National Day of Persons with Disabilities 
a. 1 only is correct  b. 2 only is correct  c. Both are correct  
d. Both are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. khw;Wj;jpwdhspfs; eyDf;fhf gpuj;jpNafkhf xU Jiwia Vw;gLj;jpa 

xNu khepyk; jkpo;ehL MFk;. 
2. Njrpa khw;Wj;jpwdhspfs; jpdkhf brk;gh; 3 mDrhpf;fg;gLfpwJ. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
167. Consider the following statements regarding Mandal Commission. 

1. 6 member Commission was established based on Article 340  
2. Announcement to appoint the commission was made  by Morarji Desai on 

20.12.1978 in Parliament. 
3. Reported on 31.12.1980. 
4. Recommended 27% reservation for OBC. 

a. 2, 3, 4 are correct  b. 1, 3, 4 are correct  c. 3, 4 are correct  
d. All are correct  e. Answer not known 
kz;ly; FO Fwpj;j gpd;tUk; thf;fpaq;fis ftdpf;fTk. 
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1. gphpT 340-d; mbg;gilapy; 6 cWg;gpdh;fs; nfhz;l Mizak; 
mikf;fg;gl;lJ. 

2. ehlhSkd;wj;jpy; 20.12.1978 md;W nkhuh[p Njrhahy; kz;ly; FO 
mikg;gjw;fhd mwptpg;G ntspaplg;gl;lJ. 

3. 31.12.1980 md;W mwpf;if rkh;gpf;fg;gl;lJ. 
4. OBC f;F 27% ,l xJf;fPL ghpe;Jiuf;fg;gLfpwJ. 
a. 2, 3, 4 rhp   b. 1, 3, 4 rhp   c. 3, 4 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

168. 27% reservation to OBC was implemented by ______. 
a. V.P. Singh on 13.08.1990. 
b. V.P. Singh on 13.10.1990. 
c. Charan Sing on 13.10.1990 
d. Morarji Desai on 31.12.1980 
e. Answer not known 
,ju gpw;gLj;jg;gl;l tFg;gpdUf;fhd 27% ,l xJf;fPl;bid nray;gLj;jpath; 
___________ 
a. tp.gp.rpq;> 13.08.1990  b. tp.gp.rpq;> 13.10.1990 
c. ruz;rpq;> 13.10.1990  d. nkhuh[p Njrha;> 31.12.1980 
e. tpil njhpatpy;iy 

 
169. Consider the following statement regarding Jothy Venkatachalam 

1. She was the first women minister of Madras Province after Independence. 
2. She was Governor of Kerala from 1977 to 1982. 
3. She was women Welfare Minister in Rajaji Ministry. 
4. She was Health Minister in Kamaraj Ministry. 
a. 1, 3, 4 are correct  b. 1, 3 are correct  c. 3 alone is correct  
d. All are correct  e. Answer not known 
N[hjp ntq;flhryk; gw;wpa gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. Rje;jpuj;jpw;F gpwF nkl;uh]; khfhzj;jpd; Kjy; ngz; mikr;ruhf 

,Ue;jhh;. 
2. 1977-1982 tiu Nfus MSeuhf ,Ue;jhh;. 
3. ,uh[h[p mikr;ruitapy; ngz;fs; eyj;Jiw mikr;ruhf ,Ue;jhh;. 
4. fhkuh[h; mikr;ruitapy; Rfhjhu mikr;ruhf ,Ue;jhh;. 
a. 1> 3> 4 rhp   b. 1>3 rhp   c. 3 kl;Lk; rhp 

 d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

170. Consider the following statements 
1. T.S. Avinashilingam is called as father of library movement in Tamilnadu. 
2. P.N. Panicker is called as father of library movement in Kerala 
3. S.R. Ranganathan birthday is celebrated as National librarians day. 
a. 1, 3 are correct  b. 2, 3 are correct  c. 1, 2 are correct 

 d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. b.v];. mtpdhrpypq;fk; jkpo;ehl;bd; E}yf ,af;fj;jpd; je;ij vd;W 

miof;fg;gLfpwhh;.  
2. P.N. gzpf;fh; Nfusj;jpd; E}yf mwptpaypd; je;ij vd;W 

miof;fg;gLfpwhh;. 
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3. v];Mh;. uq;fehjd; gpwe;j ehs; Njrpa E}yfh; jpdkhff; 
nfhz;lhlg;gLfpwJ.  

a. 1, 3 rhp   b. 2, 3 rhp    c. 1, 2 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

171. Arrange in chronological order 
1. SIPCOT 
2. Slum Clearance Board 
3. State Autonomy resolution in Tamilnadu Assembly 
4. Appointment of Rajamannar Committee. 
a. 1, 2, 3, 4  b. 4, 1, 2, 3  c. 4, 2, 1, 3   
d. 2, 1, 4, 3  e. Answer not known 
 
 
fhythpirg;gLj;jTk;. 
1. rpg;fhl; 
2. Fbir khw;W thhpak; 
3. jkpof rl;lrigapy; khepy Rahl;rp jPh;khdk; 
4. uh[kd;dhh; FO epakdk; 
a. 1, 2, 3, 4   b. 4, 1, 2, 3   c. 4, 2, 1, 3   
d. 2, 1, 4, 3   e. tpil njhpatpy;iy 

 
172. Who was the Chairman of Tamilnadu legislative council in 1986? 

a. M.G. Ramachandran  b. Kalaignar Karunanidhi 
c. Ma.Po. Sivagnanam Pillai d. Rajaji 
e. Answer not known 
1986-k; Mz;L jkpo;ehL rl;lNkyitapd; rghehafh; ahh;? 
a. vk;.[p. uhkr;re;jpud;  b. fiyQh; fUzhepjp 
c. kh.ngh. rptQhdk; gps;is d. ,uh[h[p  
e. tpil njhpatpy;iy 
 

173. Which of the following scheme is related to Infrastructure development in 
rural areas? 
a. Namaku Naame Thittam b. Anna Marumalarchi Thittam 
c. Self Sufficiency Scheme  d. Pudhu Vaazhvu Project 
e. Answer not known 
gpd;tUk; jpl;lq;fspy; vJ fpuhkg;Gw cs;fl;likg;G Nkk;ghl;Lld; 
njhlh;GilaJ? 
a. ekf;F ehNk jpl;lk;  b. mz;zh kWkyh;r;rp jpl;lk; 
c. jd;dpiwTj; jpl;lk;  d. GJtho;T jpl;lk; 
e. tpil njhpatpy;iy 
 

174. Consider the following statements regarding Tamilnadu Slum Clearance 
Board. 
1. It was established in 1971. 
2. It was renamed as Tamil Nadu Urban Habitat Development Board in 2020. 
3. The Activities of Board is related to Chennai alone. 
a. 1, 2 are correct  b. 1, 3 are correct  c. 2, 3 are correct  
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d. All are incorrect  e. Answer not known 
jkpo;ehL Fbir khw;W thhpak; njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. ,J 1971-y; epWtg;gl;lJ. 
2. 2020-y; ,J jkpo;ehL efh;g;Gw tho;tpl Nkk;ghl;L thhpak; vd 

kWngahplg;gl;Ls;sJ. 
3. thhpaj;jpd; nray;ghLfs; nrd;idAld; kl;LNk njhlh;GilaJ. 
a. 1, 2 rhp   b. 1, 3 rhp   c. 2, 3 rhp  
d. midj;Jk; jtW  e. tpil njhpatpy;iy 
 

175. Tamilnadu Housing sector strengthening program is funded by ____ 
a. ADB  b. IBRD   c. AIIB   
d. JICA  e. Answer not known 
jkpo;ehL tPLfis tYg;gLj;Jk; jpl;lj;jpw;F epjpaspg;gJ _______ 
a. ADB  b. IBRD   c. AIIB   
d. JICA  e. tpil njhpatpy;iy 

176. If ratio of three numbers is 10 : 15 : 24 and their sum is 196 find the smallest 
number? 
a. 40  b. 24  c. 36  d. 49  e. Answer not known 
%d;W vz;fspd; tpfpjk; 10 : 15 : 24 kw;Wk; mjd; $l;Lj; njhif 196 vdpy; 
me;j vz;zpy; rpwpa vz;iz fhz;f.   
a. 40  b. 24  c. 36  d. 49  e. tpil njhpatpy;iy 

 

177. Simplify : 
2 2(679 458) (679 458)

679 458

  


 

a. 1  b. 2  c. 3  d. 4   e. Answer not known 

RUf;Ff: 
2 2(679 458) (679 458)

679 458

  


 

a. 1  b. 2  c. 3  d. 4   e. tpil njhpatpy;iy 
 
178. Find the difference between simple interest and compound interest on 

Rs.2,400 at 2 years-at 5% per annum compounded annually. 
a. Rs.5  b. Rs.6  c. Rs.8  d. Rs.7  e. Answer not known 
&.2>400f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdptl;bf;Fk; cs;s tpj;jpahrk; fhz;f. 
a. &.5  b.&.6  c. &. 8 d. &.7  e. tpil njhpatpy;iy 

 
179. In an examination out of 480 students, 85% of the girls and 70% of the boys 

passed. How many boys appeared in the examination, if total pass percentage 
was 75%. 
a.320  b.340  c.360  d.370  e. Answer not known 
480 NgUf;F elj;jg;gl;l Nju;tpy; ngz;fs; 85% Kk;> Mz;fs; 70% Nju;r;rp 
ngw;wdu;. ,UghyUk; Nru;e;J 75% Nju;r;rp ngw;w epiyapy; Nju;T vOjpa 
nkhj;j Mz;fspd; vz;zpf;if vt;tsT. 
a.320  b.340  c.360  d.370  e. tpil njhpatpy;iy 
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180. If half a meter of cloth costs Rs 15. Find the cost of 
1

8
3

meters of the same  

a.200  b. 240  c. 250  d.220  e. Answer not known 

miu kPl;lu; Jzpapd; tpiy &.15 vdpy;> 
1

8
3
kP ePsKs;s Jzpapd; tpiy 

vt;tsT? 
a.200  b. 240  c. 250  d. 220  e. tpil njhpatpy;iy 

 
181. One pipe can fill a tank three times as fast as another pipe. If together the two 

pipes can fill the tank in 36 minutes, then the slower pipe alone will be able to 
fill the tank in:  
a. 81 min.   b. 108 min    c. 144 min     
d. 192 min.   e. Answer not known 
xU FohahdJ kw;nwhU Fohiag; Nghy 3 klq;F Ntfkhf epug;Gk;> 
,t;tpuz;L Foha;fSk; Nrh;e;J 36 epkplj;jpy; xU njhl;bia epug;GfpwJ 
vdpy;> nkJthf epug;Gk; Foha; jdpahf mj;njhl;bia epug;g 
vLj;Jf;nfhs;Sk; Neuk; vt;tsT?  
a. 81 epkplq;fs;  b. 108 epkplq;fs;   c. 144 epkplq;fs;    
d. 192 epkplq;fs; e. tpil njhpatpy;iy 

 
182. Imran deposits ₹ 400 per month in a post office as R.D. for 2 years. If the rate 

of interest is 12%, find the amount he will receive at the end of 2 years. 
a. 9,600  b. 10,800  c. 1,200  d.10,000 e. Answer not known 
,k;uhd; Xu; mQ;ryfj;jpy; 12% tl;bapy; xt;nthU khjKk; &.400 I 2 
Mz;LfSf;F njhlh; itg;Gj; njhifahf  (R.D) nrYj;jp te;jhu;. ,uz;L 
Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; Kjpu;Tj;njhifiaf; fhzTk;. 
a. 9,600  b. 10,800  c. 1,200  d.10,000 e. tpil njhpatpy;iy 

 
183. 40% of the population of a town are men and 35% are women. If the number 

of children are 20000, then the number of men will be : 
a. 3200  b. 80000  c. 32000  d. 320000 e. Answer not known 
xU efuj;jpd; kf;fs; njhifapy; 40% Ngh; Mz;fs;> 35% Ngh; ngz;fs;> 
rpWth;fspd; vz;zpf;if 20,000 vdpy;> me;efuj;jpYs;s Mz;fspd; 
vz;zpf;if vt;tsT? 
a. 3200  b. 80000  c. 32000  d. 320000 e. tpil njhpatpy;iy 

 
184. Find the G.C.D of a3 – 1 and a2 – 1 

a. a2 – 1  b. a + 1  c. a3 – 1  d. a – 1 e. Answer not known 
a3 – 1 kw;Wk; a2 – 1d; kP.ngh.t fhz;f 
a. a2 – 1  b. a + 1  c. a3 – 1  d. a – 1 e. tpil njhpatpy;iy 

 
185. A flood relief camp has food stock by which 80 people can be benefited for 60 

days. After 10days 20 more people have joined the camp. Calculate the 
number of days of food shortage due to the addition of 20 more people?  
a. 50days   b. 10 days    c. 40 days   
d. 5days  e. Answer not known 
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xU nts;s epthuz Kfhkpy; 80 egu;fSf;Fj; Njitahd czT 60 
ehl;fSf;Fg; NghJkhdjhf cs;sJ. 10 ehl;fSf;Fg; gpd;du; NkYk; 20 
egu;fs; me;j Kfhkpy; te;J Nru;e;jhu;fs; vdpy;> vj;jid ehl;fSf;F czT 
jl;Lg;ghL Vw;gLk;. 
a. 50 ehl;fs;   b. 10 ehl;fs;     c. 40 ehl;fs;     
d. 5 ehl;fs;  e. tpil njhpatpy;iy 

 
186. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8 

respectively then the sum of the ages of son and father in 2010 is  
a. 42   b. 43   c. 50   d. 45   e. Answer not known 
2014 kw;Wk; 2022 Mz;L kfd; kw;Wk; je;ij MfpNahhpd; taJfspd; 
tpfpjq;fs; KiwNa 1:4 kw;Wk; 3:8 vdpy; 2010 Mk; Mz;L kfd; kw;Wk; 
je;ij MfpNahhpd; taJfspd; $Ljy;. 
 a. 42   b. 43   c. 50  d. 45  e. tpil njhpatpy;iy 

 
 

187. Simplify: 
   

 
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a. 
1

7
9

  b. 
1

7
8

  c. 
2

6
9

  d.
3

6
8

  e. Answer not known 

RUf;Ff: 
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a. 
1
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9

  b. 
1
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8

  c. 
2

6
9

  d.
3

6
8

  e. tpil njhpatpy;iy 

 

188. Find the CI on ₹ 15000 for 3 years, if the rate of interest are 15%, 20% and 25% 
for I, II and III years respectively. 

a. ₹ 9,875  b. ₹ 10,875   c. ₹ 12,875   

d. ₹ 11,875  e. Answer not known 
I> II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 

25% vdpy; ₹ 15000 f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. ₹ 9,875  b. ₹ 10,875   c. ₹ 12,875    

d. ₹ 11,875  e. tpil njhpatpy;iy 
 
189. A person takes a loan of ₹  10000 partly from a bank at 8% per annum and 

remaining from another bank at 10% per annum. He pays a total interest of 

₹ 950 per annum. Amount of loan taken from the first bank (in ₹ ) is  
a. 2500  b. 5200  c. 2050  d. 5020  e. Answer not known 
xU egh; &.10>000I fldhfg; ngWfpwhh;. mjpy; xU gFjpia Mz;Lf;F 8 
tpOf;fhL vd;w tPjj;jpy; xU tq;fpapypUe;Jk;> kPjpj; njhifia ,d;ndhU 
tq;fpapypUe;Jk; 10% fldhfg; ngWfpwhh;. ,t;tpuz;L fld;fSf;Fk; Mz;Lf;F 
nkhj;j tl;bahf &.950 nrYj;Jfpwhh; vdpy; mth; Kjy; tq;fpapypUe;J ngw;w 
fld; njhif vt;tsT &gha;?  
a. 2500  b. 5200  c. 2050  d. 5020  e. tpil njhpatpy;iy 
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190. A can finish a job in 20 days and B can complete it in 30 days. They work 
together and finish the job. If Rs. 600 is paid as wages, find the share of each. 
a. A=Rs. 360, B= Rs. 240  b. A=Rs. 480, B= Rs. 120 
c. A=Rs. 400, B= Rs. 200  d. A=Rs. 240, B= Rs. 360 
e. Answer not known 
A xU Ntiyia 20 ehl;fspYk;> mNj Ntiyia B 30 ehl;fspYk; Kbg;gh;. 
,UtUk; Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J 600I jq;fs; 
tUthahfg; ngw;wdh; vdpy; mth;fs; xt;nthUtUk; ngWk; njhif vt;tsT? 
a. A=Rs. 360, B= Rs. 240  b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200  d. A=Rs. 240, B= Rs. 360 
e. tpil njhpatpy;iy 

 

191. A fruit vendor bought some mangoes of which 10% were rotten. He sold 
1

33
3

 

% of the rest. Find the total number of mangoes bought by him initially, if he 
still has 240 mangoes with him. 
a. 400   b. 300   c. 350    d. 380  e. Answer not known 
xU go tpahghup thq;fpa khk;goq;fspy; 10% mOfpapUe;jd. kPjKs;stw;wpy; 

1
33

3
 % khk;goq;fis tpw;Wtpl;lhu;. jw;NghJ 240 khk;goq;fs; mtuplk; 

,Uf;fpd;wd vdpy;> Kjypy; mtu; thq;fpa nkhj;j khk;goq;fspd; 
vz;zpf;ifiaf; fhz;f. 
a. 400   b. 300   c. 350    d. 380  e. tpil njhpatpy;iy 

 
192. The average weight of A, B, C is 45 kg. If the average weight of A and B be 

40kg and that of B and C 43 kg, then the weight of B is:  
a. 17kg   b. 20kg    c. 26kg    
d. 31kg   e. Answer not known 
A, B, C, d; ruhrhp vil 45fp.fp. A kw;Wk; B apd; ruhrhp vil 40 fp.fp. B 
kw;Wk; C apd; ruhrhp vil 43fp.fp> vdpy; B apd; vil ahJ?  
a. 17 fp.fp.   b. 20 fp.fp.    c. 26 fp.fp.    
d. 31 fp.fp.  e. tpil njhpatpy;iy 

 
193. The profit earned by a book seller by selling a book at a profit of 5% is Rs. 15 

more than when he sells it at a loss of 5%. Find the cost price of the book.  
a. Rs. 100  b. Rs. 150  c. 200   d. 160   e. Answer not known 
xU Gj;jf tpw;gidahsh; xU Gj;jfj;ij 5 rjtPj ,yhgj;jpy; tpw;gid 
nra;tjhy; fpilf;Fk; ,yhgk;> mth; me;jg; Gj;jfj;ij 5 rjtPj el;lj;jpw;F 
tpw;gid nra;tjhy; fpilf;Fk; el;lj;ij tpl &.15 mjpfk;. me;jg; 
Gj;jfj;jpd; mlf;f tpiyiaf; fz;Lgpbf;fTk;.  
a. Rs. 100  b. Rs. 150  c. 200   d. 160  e. tpil njhpatpy;iy 

 
194. Find the L.C.M of (x3 – 27), (x – 3)2, (x2 – 9) 

a. (x – 3)2 (x + 3) (x2 +3x + 9)  b. (x – 3)2 (x + 3)  
c. (x + 3)2 (x - 3)    d. (x + 3) (x2 +3x + 9)  
e. Answer not known 
kP.rp.k. fhz;f: (x3 – 27), (x – 3)2, (x2 – 9) 
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a. (x – 3)2 (x + 3) (x2 +3x + 9)  b. (x – 3)2 (x + 3) 
c. (x + 3)2 (x - 3)    d. (x + 3) (x2 +3x + 9)  
e. tpil njhpatpy;iy 
 

195. The traffic lights at three different road crossings change after every 60 sec, 84 
sec. and 96 seconds respectively. If they all change simultaneously at 10:20:00 
hrs, then at what time they will again change simultaneously?  
a. 11:26:00   b. 11:16:00    c. 11:20:16    
d. 11:00:16   e. Answer not known 
 
 
%d;W NtWgl;l njU Kidfspy; cs;s Nghf;Ftuj;J rpf;dy; tpsf;Ffs; 
KiwNa 60> 84> 96 tpdhbfspy; rpf;dy; khWfpd;wd. ,J %d;Wk; 10.20.00 
vd;w kzpfs; xd;W Nghy khWk; vdpy; kWKiw ve;j kzpNeuj;jpy; %d;Wk; 
xd;W Nghy khWk; vd fzf;fpLf.  
a. 11:26:00   b. 11:16:00    c. 11:20:16    
d. 11:00:16  e. tpil njhpatpy;iy  

 
196. The sum of the present ages of a father and his son is 60 years. Six years ago, 

father„s age was five times the age of the son. After 6 years, what is the son„s 
age?  
a. 12 years   b. 14 years    c. 18 years    
d. 20 years   e. Answer not known 
je;ij kw;Wk; kfdpd; jw;Nghija taJfspd; $Ljy; 60 tUlq;fs;. 6 
tUlq;fSf;F Kd;G> je;ijapd; taJ kfdpd; taijg; Nghy; 5 klq;F vdpy; 
6 tUlq;fSf;Fg; gpwF kfdpd; taJ vd;d?  
a. 12 tUlq;fs;  b. 14 tUlq;fs;   c. 18 tUlq;fs;   
d. 20 tUlq;fs; e. tpil njhpatpy;iy 
 

197. If 
a b b c c a

k
c a b

  
   , then the value of k is  

a. 0   b. 1  c. 2   d. a+b+c e. Answer not known 
a b b c c a

k
c a b

  
   vdpy; k d; kjpg;G 

a. 0   b. 1  c. 2   d. a+b+c e. tpil njhpatpy;iy 
 

198. If numerator of fraction is increased by 20% and the denominator is decreased 

by 5%, the value of the new fraction becomes 
5

2
. The original fraction is: 

a. 
24

19
  b. 

3

18
  c. 

95

48
  d. 

48

95
  e. Answer not known 

xU gpd;dj;jpd; njhFjp 20 rjtPjk; mjpfhpf;fg;gLfpwJ. mNj rkak; 
mjDila gFjp 5 rjtPjk; Fiwf;fg;gLfpwJ.  me;jg; Gjpa gpd;dj;jpd; 

kjpg;G 
5

2
MFk;.  vdpy;> %y gpd;dk;   

a. 
24

19
  b. 

3

18
  c. 

95

48
  d. 

48

95
  e. tpil njhpatpy;iy
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199. In an interschool atheletic meet, with 24 individual events, securing a total of 

56 points, a first place secures 5 points, a second place secures 3 points, and a 
third place secures 1 point. Having as many third place finishers as first and 
second place finishers, find how many athelets finished in each place.  
a. 5, 7, 12  b. 12, 4, 8   c. 4, 8, 12   
d. 7,5,12  e. Answer not known 
 
 
 
 
gs;spfSf;fpilNaahd xU jlfsg; Nghl;bapy;> 24 jdpegu; Nghl;bfspy; 
xl;Lnkhj;jkhf 56 Gs;spfs; xJf;fg;gl;Ls;sJ. Kjyplk;   ngWgtUf;F 5 
Gs;spfSk;> ,uz;lhk; ,lk; ngWgtUf;F 3 Gs;spfSk;> %d;whkplk; 
ngWgtUf;F 1 Gs;spAk; mspf;fg;gLk;. %d;whkplk; ngw;wtu;fspd; vz;zpf;if 
Kjy; kw;Wk; ,uz;lhk; ,lq;fisg; gpbj;jtu;fspd; vz;zpf;ifapd; 
$LjYf;Fr; rkk; vdpy;> Kjy;> ,uz;lhk; kw;Wk; %d;whkplk; ngw;wtu;fspd; 
vz;zpf;ifiaf; fhz;f. 
a. 5, 7, 12  b. 12, 4, 8   c. 4, 8, 12   
d. 7,5,12  e. tpil njhpatpy;iy 

 

200. Find the LCM of 
2 3 4

, ,
3 5 7

 and 
9

13
 

a. 
1

36
  b. 

1

1365
 c. 

12

455
  d. 36   e. Answer not known 

2 3 4
, ,

3 5 7
 kw;Wk; 

9

13
 d; kP.ngh.k. itf; fz;Lgpb.  

a. 
1

36
  b. 

1

1365
 c. 

12

455
  d. 36  e. tpil njhpatpy;iy
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CLASSROOM CONSOLIDATION (CRC) TEST 
 
Duration : Three Hours]                               [Total Marks : 200 
 
Read the following instructions carefully before you begin to answer the 
questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the 
examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are 
requested to check whether all the questions are printed serially and ensure that there are no 
blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be 
reported to the invigilator within the first 10 minutes and get it replaced with a complete 
question booklet. If the defect is reported after the commencement of the examination, it will 
not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 

 
4. You must write your register number in the space provided on the top right side of this page. 

Do not write anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the 
answers. Instructions regarding filling of answers etc., which are to be followed mandatorily, 
are provided in the answer sheet and in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page 

one of the answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly 
or fail to shade the question booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have 
to select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in 
your answer sheet. If you feel that there are more than one correct answer, shade the one 
which you consider the best. If you do not know the answer, you have to mandatorily shade 

(E). In any case, choose ONLY ONE answer for each question. If you shade more than one 
answer for a question, it will be treated as a wrong answer even if one of the given answers 
happens to be correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed 
to take this question booklet and the answer sheet out of the examination room during the 
time of the examination. After the examination, you must hand over your answer sheet to the 
invigilator. You are allowed to take the question booklet with you only after the examination 
is over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last 
page of the question booklet, which can be used for rough work. This should be strictly 
adhered to. 
 

10. In all matters, the English version is final. 
 

11. Failure to comply with any of the above instructions will render you liable for such action as 
the Commission may decide at their discretion. 


